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Question Number : 1 Question Id : 60092911668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series.

ACE,GIK,  ,SUW, YAC
Options :

1. * MPQ

2. % MOP

3. ¥ MOQ

4. % MNO

Question Number : 1 Question Id : 60092911668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faferiRad &R s & Jud ug J1d H |

ACE,GIK,  ,SUW, YAC
Options :

1. ¥ MPQ

2. % MOP

3. ¥ MOQ

4. % MNO

Question Number : 2 Question Id : 60092911669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series.

HS, MN,RI, ,BY
Options :
1. ®* UG
2. % VF
3. ¥ WD
4. % TH

Question Number : 2 Question Id : 60092911669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad s1&R $@an § o Ug 1 B |

HS, MN,RI, ,BY
Options :
1. * UG
2. % VF
3. ¥ WD




4. % TH

Question Number : 3 Question Id : 60092911670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % ]Q
2. % HS
3. % DW
4. ¥ MO

Question Number : 3 Question Id : 60092911670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T fawmed & 9 & T (Y dRid & 90 § | 8TalD, Uh [Aded 31 19 &1 dve ol ¢ | 34 [dded &1 78 B oIl 37 I 3T 5|
Options :

1. % JQ

2. % HS

3. ¥ DW

4. ¥ MO

Question Number : 4 Question Id : 60092911671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. % TRANSPORT : SSZORQNSS
2. % INSTANT : JOTUBOU

3. ¥ COMPASS : BPLQZTR



4. % TRIANGLE : SSHBMHKF

Question Number : 4 Question Id : 60092911671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e fawmed & 9 & T (Y dRid 3 90 § | 8TalD, Uh [Aded 31 19 &1 dve ol ¢ | 34 [dded &1 78 B oIl 3 I 3T 5|
Options :

1. # TRANSPORT : SSZORQNSS

2. % INSTANT : JOTUBOU

3. % COMPASS : BPLQZTR

4. #* TRIANGLE : SSHBMHKF

Question Number : 5 Question Id : 60092911672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Artist : Sketch :: Seamstress : ?
Options :

1. ¥ Clothes

2. % Swimming pools

3. % Sea

4. % Drawers

Question Number : 5 Question Id : 60092911672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAHed T 99 B S iR UG ¥ 34T UHR ¥ Yafdd g o JhR ¥ 3R UG Ugd Ug ¥ Haifed g

HATBR : ThT :: G- 2
Options :

1. ¥ HUs



2. % ARUTdIA

3. % T
4. ®

Question Number : 6 Question Id : 60092911673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

Lion : Ferocious :: ?
Options :

1. # Lamb : Aggressive
2. % Horse : Violent

3. % Ostrich : Territorial
4. ¥ Tortoise : Harmful

Question Number : 6 Question Id : 60092911673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SISt BT Ig B S Uy H <1 718 SIS 9HH ISR § Tafdd ]
lﬁ?:@::?

Options :

1. % TOFAT : 3MhHD
2. ® ‘Eh?;f%w

3. #’W‘f: &

4. % HQG3 : GHPRD

Question Number : 7 Question Id : 60092911674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language if INSPECTOR is coded as PSNIEROTC, then what will CONSTABLE be coded as?



Options :

1. # SONCTELBA
2. # ELBASNOCT
3. ¥ ELBASTCON
4. ¥ SNOCTELBA

Question Number : 7 Question Id : 60092911674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U (Af¥d Pie T # Ife INSPECTOR &Y PSNIEROTC & 30 H SIfSd {5 a1 8, 9 CONSTABLE &1 33 SIfsd far simem?
Options :

1. % SONCTELBA

2. % ELBASNOCT

3. % ELBASTCON

4. ¥ SNOCTELBA

Question Number : 8 Question Id : 60092911675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if pen is called pencil, pencil is called marker, marker is called chalk, chalk is called grease, and grease is called
brush, then what is used to write on a blackboard?

Options :

1. # Brush

2. ¥ Grease
3. # Chalk

4. ¥ Marker

Question Number : 8 Question Id : 60092911675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WIS &) T2 8T T &, Al saibele WR forg & fore o uaivT fasan e 82



Options :
1. % &%
2. ¢ U
3. % @igar
4. % T

Question Number : 9 Question Id : 60092911676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ankit is the son of Babita. Chanda is Babita's sister and has a son Dev and a daughter Emily. Farhan is the maternal uncle of Dev. How is Chanda
related to Farhan?

Options :

1. # Mother

2. % Daughter-in-law
3. % Sister

4. % Brother's wife

Question Number : 9 Question Id : 60092911676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3iferd SEtdT &1 IH & | T Salidl B 98 § 3R IUDT TP T <d 3R Ueb Tl TR § | e <d &1 HTHT § | TiaT, e o Y Jaferd g2
Options :

1. % HIdl

2. % dg

3. ¥ dg

4. % YIS B Udl

Question Number : 10 Question Id : 60092911677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rajan started walking towards the east. After walking for 40 m, he turned right and walked for 50 m. Then he turned left and walked for another
40 m. In which direction is he now from the starting point?



Options :

1. # South

2. ¥ South-East
3. % North-West
4. ¥ East

Question Number : 10 Question Id : 60092911677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 44 B1 3R I Y& HRAT 6 | 40 m T b 16, I8 & ISl § 3R 50 m Il g | R I8 ST ST 3R 40 m 3R 91| 98 316
IRfYe fofg o forw famm o g2

Options :

1. % e

2. ¢ Cl&U-gd

3. % IWR-UEH

4. % 7d

Question Number : 11 Question Id : 60092911678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, one statement is given, followed by two courses of actions, I and II. You have to consider the statements to be true even if it
seems to be at variance from commonly known facts. Decide which of the suggested courses of action logically follow(s) for pursuing.
Statement: Nowadays many school students are found to be smoking cigarettes outside the school campus.

Courses of Action:

I) Such students should be punished and penalised if they are found doing so.
IT) The local police must take action against the shopkeepers as selling cigarettes near a school premise is prohibited by the law.

Options :

1. ¥ Only I follows

2. % Only II follows

3. % Both I and II follows
4. % Neither I nor II follows



Question Number : 11 Question Id : 60092911678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy H, T By a1 T 8, o ST HRaTs & <l A 1 3R 11 faU T B | 3! 3 S &1 T AT 8, HA 81 I8 JHad: I1d a9
first oreftd 811 o & b 1 A1 Yferd HRATS BT A dlfches U J 301 & folT SIIRR0 HRaT ] |
HY: D (AT & Ps B (ATl URIR & 18R RN Yid gU 91T 91d & |

HRATS BT HH:

1) U ST ! THT B UTT S TR o7 3R &fed fosan S =gl

1) YT Gferd &1 ghHER! & RIATE HIRATS B dTey Fifds faened URIR & Ui RIRE 9e-1 &1 gR1 Afvs 8|
Options :

1. % Had [ SR Hal §

2. % HAd [1 IR B §

3. ¥ 1 3R 11 GIF! AR % §

4. % F1 3R TE I SR BT §

Question Number : 12 Question Id : 60092911679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, three statements have been given followed by two conclusions numbered I and II. Assuming that all information in the
statements is true, analyse the two conclusions together and determine whether any of them logically and definitely follow(s) from the
information given in the statements.

Statement I: All mobiles are android.
Statement II: No android is laptops.
Statement I1I: All laptops are windows.

Conclusion I: Some windows are android.
Conclusion II: No laptop is mobile.

Options :

1. # Only I follows

2. % Only II follows

3. % Both I and II follows



4. % Neither I nor II follows

Question Number : 12 Question Id : 60092911679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SHUY H, 0 By fau U 3, S 918 &l Free 1 3R 11 fau 77U § | 9% Ad U o &y & il STMeR 9 6, & sl &1 T A1y
foeroor Y 3R et & i a1 Hu 1 < s THER & S 18 off difches U 9 3R Ffd ¥ § STk w1 |

HYF 1. 9 AR d 1S58 & |
HYF II: B3 USISS AUy gl g
HYF 111 IH duerd i ]
fspy 1. $3 fdSie tgigs B
fsp T 11; PIg AUy HiaSd 8! o
Options :

1. # $Had | IR0 FRAT §

2. ¢ Had 11 TR BT &

3. % 1 3R 11 39T 3TERU R &
4. % 1 3R TE I STIR0 HAT 8

Question Number : 13 Question Id : 60092911680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following number series.

8,16,8,24,8,
Options :

1. % 48

2.¥ 32

3. % 28

4. % 40

Question Number : 13 Question Id : 60092911680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faferRad dven e d ud g 1d Hh1 |

8,16,8,24,8,
Options :

1. % 48

2.9 32

3. % 28

4. % 40

Question Number : 14 Question Id : 60092911681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 266

2.294

3.322

4. 148

Question Number : 14 Question Id : 60092911681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T fiwedl A @ & e Rfyd % T TuE 81 gTlTP, T faeed 3 diF ot aRE Tl o | 39 fdhed &1 I &Y oY 30 ¥ 3T B
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.




Options :
1.266
2.294
3.322
4.148

Question Number : 15 Question Id : 60092911682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between paper, pen and stationery?
Options :



Question Number : 15 Question Id : 60092911682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafeied & O B9 91 99 3R BT, S 3R A G & §id & GaY &1 Jad 397 G/iar g2

Options :



&
S

Question Number : 16 Question Id : 60092911683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between cars, trucks and scooters?
Options :



&

Question Number : 16 Question Id : 60092911683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafiRad # 9 &9 91 o 3IW BRI, THI 3R IpeRl & s & GaY DI T 33T AT 82

Options :




Question Number : 17 Question Id : 60092911684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the question figure?

Options :

2.¥




J

Question Number : 17 Question Id : 60092911684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad & ¥ i W SR 3Tpfa Us SMpfa BT R Hdl 82

Options :




2. ¥

J

Question Number : 18 Question Id : 60092911685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

OO0 0o 0 0|00 0|00 OO0
OO0 000 Q|00 O|0O0C 0|0 O A
OO0 oo o0A|O A AlA A AlA LA A

Options :



) W )
5L O A
L % A i
A O O
O O A
- £s £ B
L O O
L o o8
VAT A O A
3. %
Q O O
O A A
A A A
4.9

Question Number : 18 Question Id : 60092911685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafoRed & I &9 T ST MHfd Uy SMHid B §7el &1 I BT 82

Ooo0|loocolooolooo|oooO
C00O|loocoO|O0OO|0OOCO|CO A
OO0O0|loocA|OA A|AAA|A L A
Options :

O O O
A
A

> O
> >

> O P
> O O
> B O

> > O
> D> O
> D> O




> O O
> B> O
> D> O

Question Number : 19 Question Id : 60092911686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following cubes in the answer figure cannot be made based on the unfolded cube in the question figure?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

O
>



2>
o>

Question Number : 19 Question Id : 60092911686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & O IR odid H ford o9 &1 Ul STHd & 6] Ars T 49 & SMTYR W Tg] ST ol Yabdl 62
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

2>




&0

>

Question Number : 20 Question Id : 60092911687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?




Options :

&
fis !
1@
p %

Question Number : 20 Question Id : 60092911687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe Tep gUUT Y AT MN TR T ST 8, Tl I T IR 3 & 18 3pfar 1 It ufafes 32
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Question Number : 21 Question Id : 60092911688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

General Awareness
2

600929481

General Awareness

Sattriya is a classical Indian dance that originated in which of the following states?

Options :
1. # Uttar Pradesh



2. % Assam
3. % Manipur
4. ¥ West Bengal

Question Number : 21 Question Id : 60092911688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ O forg I o, T, IR YR T & Saf gs db
Options :

1. % JW U

2.9 34H

3. % OUQR

4. % UigH A

Question Number : 22 Question Id : 60092911689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Garhwali folk dance is famous in which of the following states?
Options :

1. # Odisha

2. % Manipur

3. # Andhra Pradesh

4. ¢ Uttarakhand

Question Number : 22 Question Id : 60092911689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied o 9 ford I  Teareh i I URTG 82
Options :

1. % 3nfeam

2. % HOQR




3. % 3fY TS

4, ¢ IRLS

Question Number : 23 Question Id : 60092911690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2021, Rs 1.97 lakh crore is allocated in the next 5 years for the PLI scheme in sectors to create and nurture
manufacturing global champions for Atmanirbhar Bharat.

Options :
1. ® 15
2.% 17
3.9 13
4. % 10

Question Number : 23 Question Id : 60092911690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 & oI B B T8 N0 & SR, AR YRd & forg fafmfor afyes Sfm s ik aiffa s s form. & o pLraie
& forQ 3rTel 5 auf & 1.97 IR s U Sirdfed fbu U g

Options :

1. % 15

2. % 17

3.9 13

4. % 10

Question Number : 24 Question Id : 60092911691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following countries was the first country to implement GST to reduce tax- evasion?
Options :

1. ¥ France

2. % Germany



3. % United Kingdom
4. % United States of America

Question Number : 24 Question Id : 60092911691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafoRad § § o9 91 U B IR B HH B & [T GST AR B aTall Ugal o Y12
Options :

1. ¢ g

2. % S

3. % gARcS fhren
4. % o Iy AR

Question Number : 25 Question Id : 60092911692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When a plant part shows directional movement in response to the touch of an object, it is called
Options :

1. ¥ Thigmotropism
2. % Hydrotropism
3. #® Geotropism

4. % Phototropism

Question Number : 25 Question Id : 60092911692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oTd U1 1 e fonet o o wuet ot wifdforan ® fommeres oifd fiiarar g, i s HEI o gl
Options :

1. ¢ faIeiiueH

2. % gIEgICIUNH

3. % T&@rgddH



4. ® YHRTIA

Question Number : 26 Question Id : 60092911693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following statements is incorrect?

Options :

1. #® The messages transmitted through the nervous system is in the form of electrical impulses which are known as nerve impulses.
2. ® The small gap between two neurons is called synapse.

3. ® There are 31 pairs of nerves that arise from spinal cord.

4. ¥ The short fibres coming out of the cell body of a neuron are called axon.

Question Number : 26 Question Id : 60092911693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad & @ ®F 91 &Y 7Tad |2

Options :

1. % dfeT dF & d1ead § Ufd Wew faggd Simal & U # gid g [T dfAeT SM1av & 1| I SHI S g |
2. % QI THIBIRIBT & S & BIC 3R P IAMD STUYT Hgl STl g |

3. % dAR@ISH BT 31 SISt Aoy ¥ e €|

4. ¢ TP TABIRIBT & BT IR J Aepan aral BIe gl BT sferdd HeT S 2|

Question Number : 27 Question Id : 60092911694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following mountains is an example of volcanic mountains?
Options :

1. ¥ Mount Fuji

2. # Himalayas

3. % Vosges Mountain

4. % Rockies



Question Number : 27 Question Id : 60092911694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & § &9 91 udd SaTangd! gddi b1 3aIevul g2
Options :

1. ¢ ol gdd

2. ® fgHIe™

3. % G HIded

4. % ol

Question Number : 28 Question Id : 60092911695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ancient name of which of the following rivers is Satadree?
Options :

1. # Beas

2. ¥ Sutlej

3. # Ravi

4. # Jhelum

Question Number : 28 Question Id : 60092911695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofafeaa o ¥ farg =<t &1 ureie 7 2gfe 82
Options :

1. # U™

2. ¥ gdqul

3. % 34

4. % gaH



Question Number : 29 Question Id : 60092911696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who presided over the Kolkata session of Indian National Congress in 19177
Options :

1. ¥ Annie Besant

2. % Sarojini Naidu

3. % Rash Behari Ghosh

4. % Bishan Narayan Dar

Question Number : 29 Question Id : 60092911696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferg 1917 H HRTT AP DU B DIcihIdl SHTYIYH BT 3EHET D12
Options :

1. ¢ T o8

2. % TR ARrg

3. % I f9gRI 9y

4. % foRF ARMAUIGR

Question Number : 30 Question Id : 60092911697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Chauri Chaura incident took place in
Options :
1. % 1918
2. % 1931
3.9 1922
4. % 1928

Question Number : 30 Question Id : 60092911697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TR ART P g Hgs ot
Options :

1. % 1918

2. % 1931

3.9 1922

4, % 1928

Question Number : 31 Question Id : 60092911698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the Governor General during the mutiny of 1857?
Options :

1. # Lord Minto

2. # Lord Hastings

3. # Lord Curzon

4. ¥ Lord Canning

Question Number : 31 Question Id : 60092911698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed 3 3 &M 1857 & fagis & SR AERISIUTT 41?2
Options :

1. % dle fHel

2. % IS g™

3. % QIS doiA

4.« QIS BT

Question Number : 32 Question Id : 60092911699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following shows won the ' MTV Movie & TV Awards 2021' for the 'Best Show'?



Options :

1. # The Boys

2. % WandaVision
3. # Emily in Paris
4. % Bridgerton

Question Number : 32 Question Id : 60092911699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoaRed # 9 frg srisH 7 Td9s Hried & o adid gdt T8 ddt [IBR 2021 ST
Options :

1. % g Eg

2. ¢ digifdeH

3. % UiAel ST Ui

4. % fgercq

Question Number : 33 Question Id : 60092911700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the Vice President of India as of May 2021?
Options :

1. # Ram Nath Kovind

2. % Mohammad Hamid Ansari

3. % Muppavarapu Venkaiah Naidu

4. ¥ Pranab Mukherjee

Question Number : 33 Question Id : 60092911700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafifed # 9 3 7% 2021 T HRd & WP 82

Options :



1. % AT Hifd<

2. % HIgHG gIfHe SRRt
3. ¢ qURY dhd TG
4. % YU @i

Question Number : 34 Question Id : 60092911701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
has been crowned as the Miss Universe for the year 2020 in the 69th edition of the pageant, which was held on May 16, 2021.
Options :
1. ¥ Andrea Meza
2. % Adline Castelino
3. ¥ Zozibini Tunzi

4. % Julia Gama

Question Number : 34 Question Id : 60092911701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI 16 AT, 2021 BT NI TSI & 699 TR0 H, I8 2020 F foIT SIAUS et & =4 H T Ug=a1 T ] |

Options :

1. ¢ Ufgar o

2. % TSI el
3. % S Zoh
4. % fferdT TTHT

Question Number : 35 Question Id : 60092911702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following nations will become the world's most populous country by 2027, as per United Nation's report projections?
Options :

1. # China



2. % India
3. #* United States of America

4. * Indonesia

Question Number : 35 Question Id : 60092911702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 1Y Bt RUIE & STAMT & SFER, FEfiied & ¥ 319 91 <=1 2027 T g1 T Ga 3D AT I G/ §9 ST
Options :

1. % I

2. % HRd

3. % Yo ST SARBT

4. % SSHRA

Question Number : 36 Question Id : 60092911703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y Nuklu Phom was named the winner of ‘Whitley Awards 2021°, donated by MAVA Foundation on May 12, 2021 for his efforts in establishing a
biodiversity peace corridor in .

Options :

1. # West Bengal
2. % Manipur

3. # Sikkim

4. ¥ Nagaland

Question Number : 36 Question Id : 60092911703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aTs I B Bl ¥ oiq fafderar 2ifa SIRSR RiIftd S & Gl & foT 12 718, 2021 BT MAVA BISSTH gRT &M fbT 1T,
Tl Sfarad 2021' BT faordT AT o T |
Options :

1. % gfgw §ma



2. % AR
3. % RyfdepH
4. ¢ ANTAS

Question Number : 37 Question Id : 60092911704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15th Constitutional Amendment increased the retirement age of high court judges from 60 years to  years.
Options :

1. % 65

2.9 62

3. % 68

4. % 70

Question Number : 37 Question Id : 60092911704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

159 AU =Y 7 I= raTed P e & Jargil o1 g 60 T A dgex ¥ e al gl
Options :

1. # 65

2.¥ 62

3. % 68

4. % 70

Question Number : 38 Question Id : 60092911705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The feature of the 'Cabinet System' of the Indian Constitution is borrowed from the constitution of
Options :

1. ¥ Britain

2. % United States of America

3. # (Canada



4. ® Japan

Question Number : 38 Question Id : 60092911705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR HfaYT™ Bt ‘biane gomed S fa=wdr & TfIYH I IYR o 775 3|
Options :

1. ¢ forea

2. % Tgad Iy MRS

3. ® PpAlST

4. % U

Question Number : 39 Question Id : 60092911706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following tennis players won the 2021 Italian Open?
Options :

1. # Novak Djokovic

2. # Roger Federer

3. ¥ Rafael Nadal

4. ¥ Andy Murray

Question Number : 39 Question Id : 60092911706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa o @ feg R fIarst 3 2021 &1 3eforaq siu= Sitar
Options :

1. % a® Sbidd

2. % AN BER

3.  IGIAA A8Td

4, % TSI



Question Number : 40 Question Id : 60092911707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Avinash Sable has won the steeplechase in the Federation Cup National Athletics Championship 2021.

Options :

1. %® 4500m
2. % 3000m
3. % 2500m
4. % 3500m

Question Number : 40 Question Id : 60092911707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SHTITRT a7 R HY "= THfCRT AR 2021 H K Sl g
Options :

1. % 4500m

2. % 3000m

3. % 2500m

4. % 3500m
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Question Number : 41 Question Id : 60092911708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of two numbers is 69 and their HCF and LCM are 3 and 378 respectively. Find the difference of the two numbers.
Options :

1.9 15

2. % 18

3. % 20

4. % 16

Question Number : 41 Question Id : 60092911708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 T3t BT AT 69 B 3R IhT HewH THIIACD 3R TAdH FHTGD HHTT: 3 3R 378 B 1 1 JBafl BT 3faR J1d B |
Options :

1.¥ 15

2. % 18



3.% 20
4. % 16

Question Number : 42 Question Id : 60092911709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of the question mark?

2(5/11) x 6(1/9) + ? = 12.5% of 232
Options :

1. = 11

2. % 12

3.% 13

4. ¥ 14

Question Number : 42 Question Id : 60092911709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UW%%W@WW SHIUIT?

2(5/11) x 6(1/9) +? =232 P 12.5%
Options :

1. = 11

2. % 12

3.% 13

4. ¥ 14

Question Number : 43 Question Id : 60092911710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average age of 3 children of a family is 11 years. Average age of children together with their parents is 23 years. If the father is older than the
mother by 2 years, then find the age of mother (in years).

Options :



1. # 35
2. % 28
3. % 36
4. % 40

Question Number : 43 Question Id : 60092911710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP URAR & 3 a=di & 3id Mg 11 39 ¢ | ATal-Fd & 1y faas: 9=l 1 3iiad 3img 23 98 o | afe frar Hrdr 9 2 a8 §81 |, <o Aran dt
XIECRIREIERY

Options :

1. % 35

2. % 28

3. % 36

4.9 40

Question Number : 44 Question Id : 60092911711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are three numbers A, B and C. 25 Percent of A is equal to the 12 Percent of B. 20 Percent of B is equal to the 10 Percent of C. By what
percent is C more than A?

Options :

1. # 250 Percent

2. % 24 Percent

3. % 316.67 Percent
4. % 125.33 Percent

Question Number : 44 Question Id : 60092911711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fﬂ@%i’%lﬁA,BSﬁTC%I A BT 25 UfI=Id, B & 12 Ufawid & sRISR 81 B T 20 UfA=Id, C & 10 UfI=d & RISR 81 C, A I fbaa ufamma
?



Options :

1. % 250 gfa=rd

2. % 24 Yfard

3. ¢ 316.67 Ufd<rd
4. % 12533 gfaerd

Question Number : 45 Question Id : 60092911712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If price of a pen is reduced by 35 Percent, it enables the student to buy 4 more pens for Rs. 150. Find the reduced price of the pen.
Options :

1. % Rs. 20

2. % Rs. 13.125

3. % Rs. 13

4, % Rs. 14

Question Number : 45 Question Id : 60092911712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ife HH BT Hed 35 U HH B {01 91T 8, ol T8 OF B 4 3R HAH 150 FUT H Te H T&H PR odl ¢ | S BT Ul g3 eI
T B

Options :

1. % 20>0Ud

2.9 13.125%UC¢

3. % 13%0U

4, % 14377

Question Number : 46 Question Id : 60092911713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shirish started a business by investing Rs. 40,000, after 6 months Ajay joined him with a capital of Rs. 55,000. After another 3 months, Ankit
joined him with a capital of Rs. 80,000. At the end of the year, profit is Rs. 17,500 find the share of Shirish in profit.



Options :

1. ¥ Rs. 8000
2. % Rs. 6000
3. #* Rs. 4000
4. * Rs. 12000

Question Number : 46 Question Id : 60092911713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS 7 40,000 TYT &1 FAAR B Teh AU Y= 31, 6 TGl 918 3 55,000 FUT D1 YT &b 1Y IFh 1Y JST | gAR 3 HaH & §Tg,
3ifrd 80,000 TUT P Yoil & 1Y TP 1Y IS 14T T o 3 H, TH 17,500 FUT 7, T & R o7 fgwm 1 w1

Options :

1. ¢ 8000 ¥UT

2. % 6000 ¥UT

3. % 4000 U

4. % 12000 $9T

Question Number : 47 Question Id : 60092911714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mahima purchased 'x' kg rice at Rs. 40/kg and sold 12 kg of this at 'x' per kg and remaining at Rs. 60/kg. Overall profit percent earned is 8%,
then what quantity of rice Mahima sold at Rs. 60/kg?

Options :
1. * 8kg
2. % 24 kg
3.¥ 13 kg
4. % 18 kg

Question Number : 47 Question Id : 60092911714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARHAT T 40 FU/kg TR 'x' kg AT WIS 3R FTH I 12 kg 'x' U kg J I 3R VY BT 60 TUY/kg TR ST Hof e Hfofd famam mar ary



Ofa=rd 8% &, 1 AT 7 60 ¥UW/kg H dTad B! foa-1 HET §1?
Options :
1. * 8kg
2. % 24 kg
3.¥ 13 kg
4, % 18 kg

Question Number : 48 Question Id : 60092911715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A mixture of salt and water contains 15 Percent salt. If some salt is added to the mixture then salt becomes 25 Percent and the final quantity of
the mixture becomes 102L. Find the initial quantity of the mixture?

Options :
1. % 40L
2. % 60L
3. 70L
4. ¥ 90 L

Question Number : 48 Question Id : 60092911715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T R U & FHyor H 15 uiard 99 g | afe fBsor § AsT THS e Sirdr 8 df TH® 25 Uii=id 81 o g 3R e ot sifaw am
102L B ST § | Torei07 &t IR T 1d $e2

Options :

1.% 40L

2.% 60 L

3.%70L

4.4 90L

Question Number : 49 Question Id : 60092911716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The ratio of incomes of A and B is 3 : 7 and the ratio of their expenditures is 4 : 3 respectively. If A saves Rs. 300 out of Rs. 2400, find the
savings of B.

Options :

1. ¥ Rs. 4025
2. % Rs. 3000
3. % Rs. 575

4. # Rs. 500

Question Number : 49 Question Id : 60092911716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B P 3T BT U 3 :7 8 3R 31 o0d B 3UTd HHTT: 4 : 3 81 AR A 2400 TUY H 300 TIT FAT &, Tl B B! Fad A1d B |
Options :

1. ¢ 4025 ¥UQ

2. % 3000 TUT

3. % 575300

4. % 500 3T

Question Number : 50 Question Id : 60092911717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man borrows a sum of Rs. 13,000 which amounts to Rs. 14,300 in 2 years on simple interest. What will be the amount if the rate of interest is
doubled?

Options :

1. % Rs. 16,600
2. % Rs. 15,640
3. ¥ Rs. 15,000
4. ¥ Rs. 15,600

Question Number : 50 Question Id : 60092911717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



%ma%ooomﬁﬂﬁramam%@mwmwzaﬁﬁ 14,300 ¥UT & SRISR 81 SATcH 6 | AfG SATS DT &R AT R &1 ST
B

Options :

1. % 16,600 ®4UQ
2. % 15,640%UT¢
3. % 15,000 >4UUQ
4.+ 15,600 30T

Question Number : 51 Question Id : 60092911718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The compound interest compounded annually on a certain sum of money at rate of interest 10 Percent for 2 years would be Rs.518 less than
compound interest calculated annually on the same sum at rate of interest 20 Percent for 3 years. Find the sum of money.

Options :

1. ¥ Rs.1000
2. % Rs.1500
3. % Rs.800
4. % Rs.1100

Question Number : 51 Question Id : 60092911718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T i IR R 2 auf & o 10 Ufa=rd & el @} ¥ a1 =0 ¥ Tohgfs (a1 T Tehgfs TS, 39T IR R 3 981 & forg 20 Wia=rd
TS B & Y TP U § Tehgie (BT 7T Aehdig TS 4 518 $UT HH G| &= T 1 By |

Options :

1. % 1000 ¥UTQ
2. % 1500 U
3. % 800 >UUQ
4. % 1100 >4

Question Number : 52 Question Id : 60092911719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A bus covers an equal distances at the speed of 200 km/hr, 400 km/hr and 600 km/hr. Find the average speed (approx.)of the bus for the whole
journey.

Options :

1. % 327 km/h

2. % 320 km/h

3. % 430 km/h

4. % 420 km/h

Question Number : 52 Question Id : 60092911719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP §9 200 km/hr, 400 km/hr 3R 600 kmv/hr @1 7T & THM g2 00 Bl & 1 T AT & o S 1 379 TR (@ETHT) 1 DR
Options :

1. % 327 km/h

2. % 320 km/h

3. % 430 km/h

4. % 420 km/h

Question Number : 53 Question Id : 60092911720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man travels by car and then by bike for ten hours to complete a 500 km journey. If 200 km is travelled by car, the speed of the car is 30 km/h
and the rest is travelled by a bike. Find the speed of the bike.

Options :

1. % 60 km/h
2. % 70 km/h
3. % 80 km/h
4.+ 90 km/h

Question Number : 53 Question Id : 60092911720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TP Al 500 km T T A o [T BRI SR R 18F 4 G B I BT ¢ | T BR GRT 200 km Pt AT D1 ST §, BR 1 T
30 km/h § 3R QY T ISP GRT P! ollcl g | ISP P! id I1d B

Options :

1. # 60 km/h
2. % 70 km/h
3. % 80 km/h
4. % 90 km/h

Question Number : 54 Question Id : 60092911721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A swimming pool can be filled by two pipes in 20 minutes and 30 minutes respectively. Both the pipes are opened together in an empty
swimming pool. After some time, the first pipe stopped working, and the remaining swimming pool was filled in 18 minutes. After how much
time the first pipe stopped working?

Options :

1. % 5 minutes
2. ¥ 4.8 minutes
3. # 10 minutes
4. #® 12 minutes

Question Number : 54 Question Id : 60092911721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP oRUT AT 1 g1 U13Y HHRT: 20 fie 3R 30 e & WR U €1 SF1 gyl &1 Ueh 1Y W1l R0l 1 & Widl old & | $© 99 §1e,
Ugd UgY 3 HTH BT s B (a1 3R AW R0 a1 18 e H R 7| fohd™ 97 91, Ug el UTsy = 61 BT 8¢ B [
Options :

1. % sfiAe

2. ¢ 48 e
3. % 10fiAe
4. % 12 e




Question Number : 55 Question Id : 60092911722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a school there are 25 teachers. They can make the required question papers in 28 hours. But due to some work after every 10 hours, 5 members
left the work. Then in how much time the total work will be completed?

Options :

1. # 25 hours
2. % 35 hours
3. % 40 hours
4. % 30 hours

Question Number : 55 Question Id : 60092911722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U faenera # 25 e 81 3 3Maxged Uy U7 28 U H &1 hd o | afde forddt 7 fooht 19 & SRUTER 10 92 & 91, 5 oW A HH IS
T @ oo Hr o= w9 & QR g

Options :

1. % 25%¢

2. % 35%¢

3. ¢ 40€¢

4. % 309°c

Question Number : 56 Question Id : 60092911723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The length of rectangular sheet of paper is 14 cm more than the breadth and perimeter of the rectangular sheet is 116 cm. If this rectangular sheet
of paper is rolled along its breadth to form a cylinder, then, the volume of cylinder so formed (in cu. cm) is

Options :
1. % 2350
2. % 2168
3. % 2200
4. ¥ 1386




Question Number : 56 Question Id : 60092911723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT B IATDHR e Bl daTs, TSl F 14 cm AP § 3R AIIBR e BT URATT 116 cm 81 TS BT B1 39 AATDBR e &l
T §H & forT 39! AISTS R gHTET ST €, o 39 YR ST 7Y 9T BT 3T (cu. cm H) gl

Options :

1. % 2350

2. % 2168

3. % 2200

4. ¢ 1386

Question Number : 57 Question Id : 60092911724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

18 solid hemispheres are melted to form a right circular cylinder of radius 8 cm and height 12 cm. Find the radius of each solid hemisphere.
Options :

1. #* 2cm

2. % 3cm

3. 4cm

4. % 5cm

Question Number : 57 Question Id : 60092911724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

18 31 el BT fUaemax 8 cm BT 3R 12 om $ATS &1 U T Jeiid So- ST 7T § | A 319 Tiarel &1 fHredr Jid x|
Options :

1. % 2cm

2. % 3cm

3.% 4cm

4. % 5cm



Question Number : 58 Question Id : 60092911725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table given below represents the number of various vehicles that were spotted on the road in December of 2019. Study the table given below

carefully and answer the following questions.
The average number of cars, trucks and buses is what percent less than the number of cars?

Type of Number of
Vehicles Vehicles
Buses 5400
Trucks 7200
Ambulances 3600
Cars Q000
Motorcycles 10800
Options :

1. # 18 Percent
2. * 25 Percent
3. % 20 Percent
4. % 24 Percent

Question Number : 58 Question Id : 60092911725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T &1 12 arferent 2019 & fodaR o e WR 4 T fafid aTg-l &1 T &1 a=idh & | - &} T8 Tfereh! BT ST gddh 31eqg . 3R
fafafad usli & I S|

BRI, TH AR TG B T AT BRI B W F fovan ufawrd 4 |2




el BT UDN | A6+ BI GE

tgdd 3600

FRI 9000
OresarEied 10800
Options :
1. ® 18 gfawrd

2. % 25 gfaed
3.« 20 Ufa=d
4. % 24 Ufa=Id

Question Number : 59 Question Id : 60092911726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given bar graph shows the number of calls received by a call centre in a week. Study the bar graph and answer the question that follows.
The average number of calls received per day is how much more than the number of calls received on Tuesday?



Murmber of calls received

. B 8 8 8 § B

and
240
720
I m
Thursday

Manday Tuesday Wednesday Saturday Sunday

Days

Options :
1.¥ 10
2. %20
3. % 30
4. % 40

Question Number : 59 Question Id : 60092911726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1.¥ 10
2. %20
3. % 30
4. % 40

Question Number : 60 Question Id : 60092911727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following line graph shows the number of viewers at prime time over the week. On which of the following days was the number of viewers
the minimum?

s-Starplus —»-Zea -8-Sony

150 -

Number of viewers

Sunday Manday Tuesday Wadnasday Thursday Friclay Saturday
Week

Options :

1. # Sunday

2. ¥ Wednesday
3. # Friday

4. % Monday

Question Number : 60 Question Id : 60092911727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ® IqaR
2. ¥ gYdR
3. ¥ Y[hdR
4. % GHIR
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Question Number : 61 Question Id : 60092911728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

One of the employees from every/ branch are chosen at random to/ participate in the annual Sports honour event.
Options :

1. * One of the employees from every

2. % branch are chosen at random to

3. % participate in the annual Sports honour event.

4. % No error

Question Number : 61 Question Id : 60092911728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

One of the employees from every/ branch are chosen at random to/ participate in the annual Sports honour event.



Options :

1. #® One of the employees from every

2. % branch are chosen at random to

3. # participate in the annual Sports honour event.
4. ® No error

Question Number : 62 Question Id : 60092911729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

To profit by individual experience is/ thus the only criteria we possess of the/ existence of the conscious experience itself.
Options :

1. # To profit by individual experience is

2. ¥ thus the only criteria we possess of the

3. # existence of the conscious experience itself.

4. ® No error

Question Number : 62 Question Id : 60092911729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

To profit by individual experience is/ thus the only criteria we possess of the/ existence of the conscious experience itself.
Options :

1. #® To profit by individual experience is

2. ¥ thus the only criteria we possess of the

3. # existence of the conscious experience itself.

4. ® No error

Question Number : 63 Question Id : 60092911730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(John said that, "The narrow streets) and the traffic congestion of the business district presented difficult problems of urban transit, but the system
is of exceptional efficiency."

Options :

1. # John says that "The narrow streets
2. % John said that "The narrow streets
3. ¢ John said, "The narrow streets

4. # No correction required

Question Number : 63 Question Id : 60092911730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(John said that, "The narrow streets) and the traffic congestion of the business district presented difficult problems of urban transit, but the system
is of exceptional efficiency."”

Options :

1. % John says that "The narrow streets
2. # John said that "The narrow streets
3. ¥ John said, "The narrow streets

4. # No correction required

Question Number : 64 Question Id : 60092911731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

It obeys (the law of conservation of mass though the amount) of phosphorous and oxygen remains the same throughout the reaction.



Options :

1. # the law of conservation of mass although the amount
2. ¥ the law of conservation of mass since the amount

3. # the law of conservation of mass for the amount

4. ® No correction required

Question Number : 64 Question Id : 60092911731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

It obeys (the law of conservation of mass though the amount) of phosphorous and oxygen remains the same throughout the reaction.
Options :

1. # the law of conservation of mass although the amount

2. ¥ the law of conservation of mass since the amount

3. # the law of conservation of mass for the amount

4. # No correction required

Question Number : 65 Question Id : 60092911732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

In the history of philosophy affirmation precedes negation; goes before scepticism.

Options :

1. # astigmatism
2. ¥ dogmatism
3. % imperialism
4. ® dilettantism

Question Number : 65 Question Id : 60092911732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

In the history of philosophy affirmation precedes negation; goes before scepticism.

Options :

1. # astigmatism
2. ¥ dogmatism
3. #® imperialism

4. % dilettantism

Question Number : 66 Question Id : 60092911733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Watson tried to pass it off with feigned , but it clearly disturbed him.

Options :

1. # possession
2. # seclusion
3. # coercion
4. % bravado

Question Number : 66 Question Id : 60092911733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Watson tried to pass it off with feigned , but it clearly disturbed him.

Options :

1. # possession
2. % seclusion
3. # coercion
4. ¥ bravado



Question Number : 67 Question Id : 60092911734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

With the natural capacity of

P. he drew nearer to

Q. of his face at will,

R. an Italian for changing the expression
S. the portrait and assumed a

look of pensive tenderness.
Options :

1. # RPSQ

2. % RQSP

3. ¥ RQPS

4. % RSPQ

Question Number : 67 Question Id : 60092911734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

With the natural capacity of

P. he drew nearer to

Q. of his face at will,

R. an Italian for changing the expression
S. the portrait and assumed a

look of pensive tenderness.
Options :



1. ¥ RPSQ
2. % RQSP
3. ¥ RQPS
4. % RSPQ

Question Number : 68 Question Id : 60092911735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Abstruse
Options :

1. # Angle

2. % Transparent
3. # Obvious

4. ¥ QObscure

Question Number : 68 Question Id : 60092911735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Abstruse
Options :

1. ¥ Angle

2. % Transparent
3. % Obvious

4. ¥ QObscure

Question Number : 69 Question Id : 60092911736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below



Sovereignty
Options :

1. # Kindle

2. ¥ Administration
3. % Debut

4. # Fleet

Question Number : 69 Question Id : 60092911736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Sovereignty
Options :

1. # Kindle

2. % Administration
3. % Debut

4. # Fleet

Question Number : 70 Question Id : 60092911737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Inmical

2. ¥ Inimical

3. % Inemical

4. % Inimecal

Question Number : 70 Question Id : 60092911737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. * Inmical

2. % Inimical

3. * Inemical

4. * Inimecal

Question Number : 71 Question Id : 60092911738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Antagonistic

2. # Antaganistic

3. % Antoganistic

4. ¥ Antagonisic

Question Number : 71 Question Id : 60092911738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Antagonistic

2. % Antaganistic

3. ¥ Antoganistic

4. # Antagonisic

Question Number : 72 Question Id : 60092911739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom



Blood Is Thicker Than Water

Options :

1. ® To take on a task that is way to big.

2. ¥ The family bond is closer than anything else.
3. ® A rare event or occurrence.

4. % To avoid talking.

Question Number : 72 Question Id : 60092911739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Blood Is Thicker Than Water

Options :

1. #® To take on a task that is way to big.

2. % The family bond is closer than anything else.
3. #¥ A rare event or occurrence.

4. ® To avoid talking.

Question Number : 73 Question Id : 60092911740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Crack Someone Up

Options :

1. # Intentionally raise a false alarm.

2. ¥ When you complain about a loss from the past.

3. % To hope that something happens the way you want it to.

4. ¥ To make someone laugh.

Question Number : 73 Question Id : 60092911740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Crack Someone Up

Options :

1. # Intentionally raise a false alarm.

2. % When you complain about a loss from the past.

3. # To hope that something happens the way you want it to.

4. ¥ To make someone laugh.

Question Number : 74 Question Id : 60092911741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Foolish talks or ideas
Options :

1. #® Laconic

2. ¥ Guff

3. # Rationality

4. ® Senile

Question Number : 74 Question Id : 60092911741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Foolish talks or ideas
Options :

1. #® Laconic

2. % Guff

3. # Rationality

4. ¥ Senile



Question Number : 75 Question Id : 60092911742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Forceful or angry speeches
Options :

1. # Articulation

2. ¥ Harangue

3. # Induction

4. % Nominate

Question Number : 75 Question Id : 60092911742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Forceful or angry speeches
Options :

1. # Articulation

2. % Harangue

3. # Induction

4. % Nominate

Sub-Section Number : 2
Sub-Section Id : 600929765
Question Shuffling Allowed : Yes

Question Id : 60092911743 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives



“Leave it.”

Kelsey could not begin to fathom what she was hearing. In fact, a part of her began to feel she was in some sort of dream, unable to emerge to
wakefulness.

Even the contractor appeared flabbergasted. His mouth stayed in a half-open position, like a marionette waiting for its strings to be tugged.

“Yes. Leave it,” Robert said again, speaking to the notion that someone in the room had asked him to clarify his words. No one had, but Robert
understood the silence.

What were the chances that an Indian burial ground would be found on the bucolic site where Robert and Kelsey had chosen to build their dream
home? Why in the world would Robert not want to have the remains carted away, thought Kelsey. The last thing they needed were Indian
poltergeists meandering around their home while the two of them were trying to renovate their marriage.

Kelsey, usually deferential to her husband, knew that now was the time to make her position heard.

She tried to cajole Robert away from the direction he was heading. “Sweetheart,” she cooed. “We don’t want to build on a site with human
remains. It would be irreverent to the dead.”

Immediately, she saw contempt in Robert’s eyes; it was a subtle reminder of how he often viewed her as superficial and self-absorbed.

“What would be irreverent,” said Robert, his voice dripping with condescension, “would be to desecrate these Native graves and move them from
their final resting place. Remember the culture.” No, Kelsey did not “remember the culture.”

She could not care less about the culture. However, Robert, the history professor, was obviously enthralled by the contractor’s findings. He had
an innate way of understanding other cultures and other people that amazed Kelsey. He did not have that gift with her.

But something inside Kelsey said this was too much. She believed wholeheartedly in ghosts and could not imagine a life of them haunting her,
rattling her cupboards, and shaking her floorboards.

Kelsey had an unnerving sensation that problems were ahead.

Sub questions

Question Number : 76 Question Id : 60092911744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The phrase "Leave it." is said by whom?
Options :

1. ¥ Robert

2. % Kelsey

3. #* Contractor

4. # Indian Poltergeists

Question Number : 77 Question Id : 60092911745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What was Robert's profession?
Options :



1. # Entrepreneur

2. ¥ History professor
3. % Contractor

4. ® Architect

Question Number : 78 Question Id : 60092911746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was wrong with the site upon which the couple had decided to build their dream home?
Options :

1. # It was a bucolic site

2. ¥ It was an Indian burial ground

3. % It was haunted

4. ® It was disliked by Kelsey

Question Number : 79 Question Id : 60092911747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following options is incorrect? Choose one option.
Options :

1. # Kelsey tried to persuade Robert to cart away the remains of the dead.

2. # Robert was fascinated by the contractor's findings.

3. % Robert and Kelsey were having marriage troubles.

4. ¥ Robert by profession was an architect.

Question Number : 80 Question Id : 60092911748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the speaker mean by the phrase "Yes. Leave it,"?

Options :

1. # He doesn't intend to leave the remains of the dead buried and build a house on that ground.
2. # Leave the site and find a new site to have their dream home constructed.

3. % He is asking Kelsey to leave him and the contractor alone.



4. ¥ He is asking the contractor to leave the remains of the dead buried.

Question Id : 60092911743 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

“Leave it.”

Kelsey could not begin to fathom what she was hearing. In fact, a part of her began to feel she was in some sort of dream, unable to emerge to
wakefulness.

Even the contractor appeared flabbergasted. His mouth stayed in a half-open position, like a marionette waiting for its strings to be tugged.

“Yes. Leave it,” Robert said again, speaking to the notion that someone in the room had asked him to clarify his words. No one had, but Robert
understood the silence.

What were the chances that an Indian burial ground would be found on the bucolic site where Robert and Kelsey had chosen to build their dream
home? Why in the world would Robert not want to have the remains carted away, thought Kelsey. The last thing they needed were Indian
poltergeists meandering around their home while the two of them were trying to renovate their marriage.

Kelsey, usually deferential to her husband, knew that now was the time to make her position heard.

She tried to cajole Robert away from the direction he was heading. “Sweetheart,” she cooed. “We don’t want to build on a site with human
remains. It would be irreverent to the dead.”

Immediately, she saw contempt in Robert’s eyes; it was a subtle reminder of how he often viewed her as superficial and self-absorbed.

“What would be irreverent,” said Robert, his voice dripping with condescension, “would be to desecrate these Native graves and move them from
their final resting place. Remember the culture.” No, Kelsey did not “remember the culture.”

She could not care less about the culture. However, Robert, the history professor, was obviously enthralled by the contractor’s findings. He had
an innate way of understanding other cultures and other people that amazed Kelsey. He did not have that gift with her.

But something inside Kelsey said this was too much. She believed wholeheartedly in ghosts and could not imagine a life of them haunting her,
rattling her cupboards, and shaking her floorboards.

Kelsey had an unnerving sensation that problems were ahead.

Sub questions

Question Number : 76 Question Id : 60092911744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The phrase "Leave it." is said by whom?
Options :

1. ¥ Robert

2. # Kelsey



3. ¥ (Contractor

4. # Indian Poltergeists

Question Number : 77 Question Id : 60092911745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What was Robert's profession?

Options :

1. # Entrepreneur

2. ¥ History professor

3. % Contractor

4. ® Architect

Question Number : 78 Question Id : 60092911746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was wrong with the site upon which the couple had decided to build their dream home?
Options :

1. # It was a bucolic site

2. ¥ It was an Indian burial ground

3. % It was haunted

4. ® It was disliked by Kelsey

Question Number : 79 Question Id : 60092911747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following options is incorrect? Choose one option.
Options :

1. # Kelsey tried to persuade Robert to cart away the remains of the dead.

2. # Robert was fascinated by the contractor's findings.

3. % Robert and Kelsey were having marriage troubles.

4. ¥ Robert by profession was an architect.



Question Number : 80 Question Id : 60092911748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the speaker mean by the phrase "Yes. Leave it,"?

Options :

1. % He doesn't intend to leave the remains of the dead buried and build a house on that ground.
2. # Leave the site and find a new site to have their dream home constructed.

3. % He is asking Kelsey to leave him and the contractor alone.

4. ¥ He is asking the contractor to leave the remains of the dead buried.
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Sub-Section Number : 1
Sub-Section Id : 600929766
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 60092911749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faseal & § 39 fawed &1 797 3 o 3T 7T IfY - fawde Wesg & e i o1 faweu |

URd + ¥
Options :

1. ¥ URdg

Question Number : 81 Question Id : 60092911749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fasweal § O 39 Aoy o1 g4 &3 o fou U TfY - fawde Teg & Ug) IfY &1 faweu g

YRd +3g
Options :

1. ¥ YR

Question Number : 82 Question Id : 60092911750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 39 fawed &1 79 3 off 3T 77 TfY Trse & Tet IfY-fa=de o1 faweu g



Gafy

Options :

1. % q+ 38

2. % g+ BN

3. Td+BN
4.% T+ B

Question Number : 82 Question Id : 60092911750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fameal & q 39 fared &1 79 &3 off 3T 7T TfY Tsg & et IfY-a=dg o1 e g
<aftf

Options :

1. % ¢4+ 4

2. % ¢3 + BN

3. G+ BN
4. % T3+ B

Question Number : 83 Question Id : 60092911751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol & @ 39 fdchey &1 98 B o) I e, &1 Tl f[dhed T8 3 |
Options :

1. % 3H

2. % dq

3. % Pdile

4. ¢ B

Question Number : 83 Question Id : 60092911751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ I fdshey &1 98 B3 ol I Tec, BT Ug! [dhed 181 3
Options :

1. % Y

2. % gq

3. % die

4. ¢ UBY

Question Number : 84 Question Id : 60092911752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faweal & § 39 fawed &1 99 &3 off §g THN &1 Ie! fadhed g
Options :

1. ¥ U9 3R qug

2. % diF O] &1 JHBR

3. % QTS o Iy

4. % TS ®U ¢

Question Number : 84 Question Id : 60092911752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & J 39 fawed &1 99 &3 ol §g THN &1 el fadhed g
Options :

1. ¥ U1 3R qug

2. % i Afordl &1 JHBR

3. % YT g S Y

4. % B EY T

Question Number : 85 Question Id : 60092911753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § 39 fadhed &1 999 &3 ol daHd Weq &1 el f[adhed g |
Note: For this question, discrepancy i1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. &R
2. 3FRM

3.
4.71d

Question Number : 85 Question Id : 60092911753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faseal & § 3 fashed &1 999 &3 Sl deHd Vet &1 ol fadhed g |
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. &R

2. 3R

3. ]
4.71d

Question Number : 86 Question Id : 60092911754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fau U wree & sifaw aut ¥ a1 wrdfe Sreq 9 & o 3fed faswew gy
LEa]

Options :




1. & STHAET
2. % OIS
3. % oY
4. % Sl

Question Number : 86 Question Id : 60092911754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

il fu 77T rsq & Sifad 9ol @ a1 afe treg a9 o fore Ifud fased g
bl

Options :

1. ¢ S

2. #® G

3. % oY

4. #® Sh[

Question Number : 87 Question Id : 60092911755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 foehedl # & 34 fdehed o1 =07 3 (D1 ) H AT 71T Toq b1 IH T3 dTeieh Fd-1H 1 Fe! [dehed g
Options :

1. % (37) qIB! T8l ABR 3137 |

2. % (38 ) IR HI Il fe@maT |

3.¢ (B fre SET AeaT § |

4. % (qH) TSl 3R o3 3T |

Question Number : 87 Question Id : 60092911755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawedl & q 39 fahed BT 9g &3 (HI8F ) H 3T T st o1 ITH TN T Ja-TH &1 el f[ddhed g




Options :

1. % (37) GIb! T8l AB 37137 |
2. % (3% ) TER &I Il feama |
3. ¢ () e SET IR § |
4. % (qH)TeT AR 93 T3 |

Question Number : 88 Question Id : 60092911756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol & O 39 fdshey &1 Iu &3 SN 9o & AU U Xeq; &1 I8! fashey g
3w ST Ay sraeht g Ay el -

Options :

1. % 3ffUABT
2. % SOl
3. % 3Hfepa
4. SRIICR

Question Number : 88 Question Id : 60092911756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faeal & Q I fdshey &1 99 o3 o ITeieT & T Ueh Weq &1 T8t fadhed g
3w ST A3y sraeh d Ay el -

Options :

1. % 3D
2. % ST
3. % 3Hfepa
4. 3RIICH

Question Number : 89 Question Id : 60092911757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

79 faweal & q 39 fasey &1 99 3 off AT 7T 9199 & YR & Ve &1 Ue! fahed g

aaaaﬁas‘waaw?i 981 a1 AR TR= fobd|
Options :

1. % Igod a1

2. % IR AT

3. ¢ 0y ared

4. % fANYarIS aIH

Question Number : 89 Question Id : 60092911757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & Q39 fdehey &1 9a &3 off 3T U a1 & UHR & He o1 gl f[apeu g

OIq 98 4as 91 99 39 981 141 IR Y& (AT |
Options :

1. % JYad qId

2. % I dIg

3. ¢ Y 9/

4. % fAYaES aTH

Question Number : 90 Question Id : 60092911758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & q 39 fashey &1 999 3 o fAU T8 a9 & g8l & N &1 98! fdded g
T gd § FRepadr g

Options :

1. % 3M1qfd geldh
2. ¢ Fgaras
3. % TIfaedd




4. % IRYIIdD

Question Number : 90 Question Id : 60092911758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fageal & q 39 fared &1 999 o3 o AT 70 a9 & Uel & N &1 I8! fadhed g
i ud § Feparan 8

Options :

1. % 3Tgfd i
2. ¢ MIdRde
3. % TRTfaEd®
4. % IRYIdD

Question Number : 91 Question Id : 60092911759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § 39 fawed &1 99 &3 off 3T 78 a9 & gia & U &1 Ie! fadhed g
gfe g9 Igd df U gl Sffal!

Options :
1. % "agrd
2. ¢ Hahard

3. % g
4. % 1Y

Question Number : 91 Question Id : 60092911759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § 39 fawed &1 99 &3 off 3T 78 a9 & gii & U &1 Je! fadhed g




e g Ued dl Uy 8t ST

Options :
1. % dagrd
2. ¢ Yhard

3. % g
4. % /1Y

Question Number : 92 Question Id : 60092911760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 fasmedl o 9§ 39 faded &1 997 &1 Sl faT T geTak & Tat o &1 fawey g
3Gl BT U gaT

Options :

1. % §fq Y g
2. « s &9 ST
3. % ET &

4. % 3FUG BT

Question Number : 92 Question Id : 60092911760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 fawedl § & 39 fdded &1 989 o S fAU U geTar & Wal o &1 fddhed 3|
3Gl BT UL g

Options :
1. % gfg Y¥ gl

2. ¢ A &1 9T

3. % ¢Rar ¢




4. ® 3FUG BT

Question Number : 93 Question Id : 60092911761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & Q 39 faded &1 97 o3 o AT T Aipifad & gt o &1 fadey g
BT SR e P &M -

Options :

1. % Wd Afdd o gd P T BIs @A S |
2. % 90 I8! g1 o) IRT IR 3lh a1 8 |

3. ¢ BT e W ggrdr ol gt ®

4. % 3(OAT 3igd T DHA

Question Number : 93 Question Id : 60092911761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 ol & @ 31 fashey &1 98 3 off AU U Aieifaa & gl orf &1 faweu g
1SRG ofd PV @ -

Options :

1. % Wdd Afed Sas e A His g@AA S |
2. % U g 81 ) IRT TR 3l a1 8 |

3. ¢ BT favre R ggrad oY gidl §

4, % 3{UAT 3ffgd WY Bl

Question Number : 94 Question Id : 60092911762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & Q 39 faded &1 T97 &3 o AT T Aipifad & gt o &1 fadey g
Rafar faeett @1 9=




Options :

1. ¢ G D DY DI AIfId R W HebTar
2. % & I YA Bl SATTIDdl g1

3. % BRI D AR TR TS

4. % HH M TAIC IR T8

Question Number : 94 Question Id : 60092911762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 3T oy &1 97 &3 o AT T Aipifad & T8t o &1 faded g
Rt faeeh @™ A

Options :

1. ¢ GO D 1Y DI Sferd RIF W HbTer
2. % Y& Pl YHTU HI ATaRIH T ol

3. % HEA TS 3R BAT HD

4. % Y T IC R R A8

Question Number : 95 Question Id : 60092911763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 famed! o 9 39 fadmed &1 99- &1 Sl 98! favm g ot a1 &1 fadhed g
Options :

1. % I A, I 3R A Al <G 1T | HAT T AT ; AT ol WIG 38 3 |
2. % W, HigH, YR 3R g Al @ T HSAT T AT ; AT diol |G X6 U |
3. % I HIgH T SR g AT &8 7T | AT T AT ; AT =il BRIG 33 3|
4. TH, FIgH, THR 3R gl HAT 8 7T | AT T AT ; AT =l BRIG 35 3|

Question Number : 95 Question Id : 60092911763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



79 famedl 4 ¥ 39 fddwed &1 9a+ &< Sl Ug! fov fog gad ared &1 faded g
Options :

1. % I HE; T MR A HAT &/ 7Y | TAT T T ; AT Aol WRIG 38 3 |
2. % I, T, TR 3R AT AT < 7T AT T AT ; AR ol Wi | |
3. % I Hig YU 3R A AT G/ 7Y | TAT T T ; AT Aol WiiG 38 3 |
4. W, TG, T SR IS Tl S T | TS T AT ; T it W@R1g 38 3 |

Sub-Section Number : 2
Sub-Section Id : 600929767
Question Shuffling Allowed : Yes

Question Id : 60092911764 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

= fou 7 e Y earydes ue 3R IR U uet o7 watad SR |

ﬁéﬁigﬁlﬁﬂmww&ﬁtﬁm%l Sita P TTS! YA &4 ¥ Iad! Xg 39P (ol G urgd! 3dfd wll-J3y Gl &l aRIeR &1
TETNT 3R o TRe<1 71 TfS 378 U Y Sier a1 557 gan al Ml Yare U I 781 add o |

ST TRE AT 3R SR 1 IA & [ T 1 ATg! ATRAT o ANTGH Bt o a1 S1a=adhedl ¢ | ART U1 GG 3fad €0 H ¢ 9 59P
7T Y SRIe 1 RIF A1 =13 T 04T T8 ] © b TS Aigeh 3R g eh! H 1S UG 7 DY 1Tl 3R T2V Uh-G8 & b & | Th &b
fomTT TR BT P KT el I8 Sl ¥ | T ST bt AR T2 | DT e © b o w18t b Aridia i Bt a1d § , 98t AR H &t
311 {01 FArerd &1 YU Sl THIA A YW BIdT 5, SUH I, &, HHAT Hg-I=iterdl oI HId 70 7RI ST S{U& g &1 HH 8ld o |
TR STET 1Y BT ATIR HHT ST & gt AR} arcded 3R U1 P Sial-oIrTet i gl § | 39 Taier & A TR0 3 St 8t Hal | |

Sub questions

Question Number : 96 Question Id : 60092911765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS SR 2 B I & o o el § 2
Options :

1. ¢ T3 3R TR} S} T GG S § |
2. % Ryt TR



4. % Tt s=

Question Number : 97 Question Id : 60092911766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I 1 7ot e g2

Options :

1. % URT®

2. % 3

3. % qld

4.« HFA™

Question Number : 98 Question Id : 60092911767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y & TgHTa § 1. &7 707 9T ST g2
Options :

1. % @ fcan

2. ¢ T, T, HHT , Fe-T=iterd

3. % P, (gl

4. % fHAaT HIRAr

Question Number : 99 Question Id : 60092911768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R BT GG RTeg T 52

Options :

1. % HIg

2. % 3fd

3. % Hg

4. R



Question Number : 100 Question Id : 60092911769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fTese o fod Ifud e o
Options :

1. % FHTS & Ufd AR & IRTGH

2. ® R} B HEHI

3. % TS H I3y 3R AR} &1 I

4. ¥ TFY 3R T U M & &1 ufed

Question Id : 60092911764 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

i feu 7TU e Y earYde Ug 3R U 7Y Ul T garaH STR A

Fﬂaﬁ? Sl Ut TSt o &1 UfgU €| Siiar o TS ere T A wefcl! 38§ fory A ufgd srufd Tl g €Il o1 SRTeR BT
TR RS | afe 578 uep off Sier a1 98T g3 oY M YA U ¥ et I bt
WW@TNﬁW%WWﬁﬁW%W&%ﬁ@Malq%qqadl%lmﬁawdlqwldw 3 FUH S b 3P
oY I8 TRIE 1 R e AT T I8 TR § [ THIS dSdh IR AS®! H BIs UG - BRI 3R PY TSGR & Rb ¢ | Th &
IERIKASECARAE] 31Nd<q=|-s°rrs'am%lwﬁﬁﬁmﬁ%mﬁmﬁm%ﬁﬂlﬁwwwwﬁw% CREINE: K
31fe ATdTa T firerd & | oW S WHTd W YW BIdT 8, IH N, &3, HHdI Ye-iiddl od AFdig Tor R Y ade 9gd A U A B
S HEICEEECRIR HHIWIdl%aﬁﬁrﬁWSﬁvﬁﬂaﬁGﬂ?ﬁWEﬁﬁ?ﬁ%lsﬂﬂa’ﬂﬁﬁfﬂfﬁwwﬁromé"rml?ﬂ

Sub questions

Question Number : 96 Question Id : 60092911765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS 3R R B I P o T el 62
Options :

1. ¥ O3 3R AR G BT INTGH el 3 |
2. % Ry ARt

3. % R gy

4. % Tyt g=ii



Question Number : 97 Question Id : 60092911766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I 7 7 7ot firerd g2

Options :

1. % URTdie

2. % MR

3. % qld

4.« HFA™

Question Number : 98 Question Id : 60092911767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR % THTG H F1- &7 707 UTE ST 82
Options :

1. % @y g

2.« I, &1, HHAT , e I=iad]

3. % @l , gzl

4. % fHAaT HIRAT

Question Number : 99 Question Id : 60092911768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T &1 GATaTe Reg; 3T 32

Options :

1. % HIg

2. % 3fd

3. % Hg

4. ¥ RTY

Question Number : 100 Question Id : 60092911769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3o & forg Iferd 2ide difory
Options :

1. % S & Ufd AR} & aNe™

2. % AR Bt HEMT

3. % TS H I3y 3R AR} &1 I
4. ¥ TY 3R TR U M & o1 ufed

Disciplinel
Group Number : 6
Group Id : 600929485
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 600929640
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1



Sub-Section Id : 600929768
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 60092911770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g & ¥ pH- 3k TR Bt T/ TR RY
Options :

1. % Hrfered IR

2. % Ugferdl aur geiat

3. % QI gEH

4. ¢ 38 TRieT

Question Number : 101 Question Id : 60092911770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 7 3 HH-F SR R B 511 781 82
Options :

1. ® wifere SRt

2. % Ugferl aur geikai

3. % QIgEH

4. T58 URI&T

Question Number : 102 Question Id : 60092911771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o fomie foraa! XaT 82

Options :

.Y 3d

2. % fjmoh

3. % PG



4. % UsIIhX

Question Number : 102 Question Id : 60092911771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gol ey fparept e 89

Options :

1.¥3d

2. % fjdmaoh

3. % PG

4, ® UsIh

Question Number : 103 Question Id : 60092911772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TeY-ATEY B, ¥Rt 7Y, Ta ¢ Pa| [y &3 & ufda 32
Options :

1. ¥ Gl

2. % JHIcHH

3. % BIPR

4, % PHofufd

Question Number : 103 Question Id : 60092911772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRI-ATE! &Y, AR A, G & Ho|' frd Hid &1 tferd g2
Options :

1. ¢ ST

2. ® 3HMH

3. % BTG

4. % Ul



Question Number : 104 Question Id : 60092911773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R ¢, diumarie o & g8 T deT fh g Hid = fordt 89

Options :

1. % SRR UG

2. AP FUrS! TR
3. % e ud

4. % Tgredr gd

Question Number : 104 Question Id : 60092911773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R g, droMaTie &R §' Ig TGt a1 [ Hid A forddt g2
Options :

1. % SOR[AR YT

2. ¢ ghoid FAurdt Rrar

3. % giEed ud

4. * HgIqdl aAl

Question Number : 105 Question Id : 60092911774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR T & W T8 & 42
Options :

1. % UfSd IH=ig Yo

2. % UfEd YR fiy

3. ¢ Uf$d HRTdR vTe fead]

4. % URdg gRYg



Question Number : 105 Question Id : 60092911774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR T & A& & B 42
Options :

1. % Gfgd IHds Yo

2. % Ufed Ydmo-TRIor fisy

3. ¥ Ufsd ATk vrg fgadt

4. % YRdg gRY%

Question Number : 106 Question Id : 60092911775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HI-TT HIJ Teh HRATT ATAT & 19 J SHigar fergar
Options :

1. % HERATY UATd

2. % Y Y g

3. ¢ AREATE Idacl

4. % HIM! UgTG (1Y

Question Number : 106 Question Id : 60092911775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DIF-TT Bd 'Th HRAIT AT P 10 I BT foradT U2
Options :

1. ® HERATY UATd

2. % YA Rig

3. ¢ ARG agaal

4. % M uTG [0y

Question Number : 107 Question Id : 60092911776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YR 8RS 7 1T YRT & fobhg 3R HisT
Options :

1. % R O &t 3R

2. % AfT TN BT 3R

3. % fjor ufag 1 iR

4.« W UH DI 3R

Question Number : 107 Question Id : 60092911776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRdg sRY% A HTed 4RI DI fhy SR [er
Options :

1. % TR O &1 3R

2. % Jfd T BT 3R

3. % fEjor yfgg &t oiR

4. ¢ WA UH B 3R

Question Number : 108 Question Id : 60092911777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR BT TIIT T fo) AT ST 82
Options :

1. ¢ TSIy g

2. % Tfidraeit

3. % o GHYd!

4. % oSl

Question Number : 108 Question Id : 60092911777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TSR T TIIT T fo) AT ST 82
Options :

1. ¢ JelY U

2. % Tfidraeit

3. % o GHYd!

4. % oSl

Question Number : 109 Question Id : 60092911778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fagRY ¥ 3u D1y | fbd B 1 UM
Options :

1. % i

2. % Wy

3. % ol

4. v Qg

Question Number : 109 Question Id : 60092911778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fogRt A 314 1oy H fbd g i ST
Options :

1. ® pfad

2. % Wy

3. % gaa

4. I8l

Question Number : 110 Question Id : 60092911779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T fAofa &1 TR B 82
Options :

1. % fogr

2. ¢ IRaRe™

3. % YqMQ

4. % AfR™

Question Number : 110 Question Id : 60092911779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BT (i &1 AR HH 82

Options :

1. * fogrd

2. ¢ fHERie™

3. % PG

4. % AR

Question Number : 111 Question Id : 60092911780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BREC fobd Mol & 31193 H 32
Options :

1. % §dl & el HiaRig

2. % AT

3. % fRrarefl

4. ¢ 3BT b ol g5oitd R

Question Number : 111 Question Id : 60092911780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRACY [T IS & M H A2



Options :

1. % §dl & ol Yraiig

2. % B

3. % fRrareht

4. ¢ 3RS & ISl Fgoid g

Question Number : 112 Question Id : 60092911781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PIA-HH & STHR DI I Hid TG Ugd gofT UT?
Options :

1. ¥ BeR

2. % HR

3. % qoila™

4. % JYq™d

Question Number : 112 Question Id : 60092911781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HTA-HH P IR DI AT Hid T4 g AT UT?
Options :

1. ¥ BaR

2. % HRI

3. % godic™

4. % Pald

Question Number : 113 Question Id : 60092911782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 o fFrjo ufed e 178 82

Options :



1. % ¥a
2. % 9HD
3. % HAR
4. ¢ fagmafd

Question Number : 113 Question Id : 60092911782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol # 3 o o yfdd oRT &1 781 82
Options :

1. % G

2. % AP

3. % HaR

4. + fa=mfd

Question Number : 114 Question Id : 60092911783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GRT RR § SIfey, Afead 06 T, I8 Siad fhad! 82
Options :

1. ® PR

2. {H

3. % X9

4. % HREGH

Question Number : 114 Question Id : 60092911783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GRT RR F Sifey, Aferad 0 @, g 3fad feasd! 82
Options :

1. % R



2. ¥ B
3. % IqEMH

4. % HYAGN

Question Number : 115 Question Id : 60092911784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIUATR fosden! fawrd a1 62
Options :

1. ¢ Jaq™d

2. % godiia™

3. % P

4. % AR

Question Number : 115 Question Id : 60092911784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RO forden! faeard a1 62
Options :

I A

2. % Jordla™

3. % PG

4. % AW

Question Number : 116 Question Id : 60092911785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P T H MT-HWT & UH BT 33T AUH &7
Options :

1. * UsIdd

2. ¢ Taraal!



3. % TATTAd!
4, % TYATA!

Question Number : 116 Question Id : 60092911785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Ty o TYT-H01 & W T 35T 90 52
Options :

1. % UsIldd

2. ¢ Uerdait

3. % IO

4. % [YATC!

Question Number : 117 Question Id : 60092911786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el 61 A Sieid o' b HepT BldaT-HUE 82
Options :

1. ® AN

2. ¥ HEARAY AT

3. % Y UG

4. % JHA

Question Number : 117 Question Id : 60092911786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Td Tal T aIad &' fhaed Hiaar-aue g2
Options :

1. % ETISH

2. ¢ HERAY AT

3. % YT I9q




4. % g

Question Number : 118 Question Id : 60092911787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRBTHT & RN D 82

Options :

1. % 3HleTH

2. % ¢d

3.9 Yl

4. % HiRMH

Question Number : 118 Question Id : 60092911787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RGN & AR D &7

Options :

1. * 3HlcH

2. % ¢4

3. |l

4. % AR

Question Number : 119 Question Id : 60092911788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIRY SREIR' BT YTl fore favam
Options :

1. % ST deur g

2. % dlcihW Hg

3. ¢ Tl ey RaR i

4. % OIS 9 TEi ST




Question Number : 119 Question Id : 60092911788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRY SRATR' T YTe foba fobam
Options :

1. % o7 e Rig

2. % dIIhW Hg

3. ¢ o1 fR1auTTe AR fee

4. % Uig o TH ST

Question Number : 120 Question Id : 60092911789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i 1wt ftly & d® DI 82
Options :

1. ¢ BRAYR I §=H

2. % JU 1Y 3R’

3. % Hgladl aAl

4. % R REf

Question Number : 120 Question Id : 60092911789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g o1 P R & o B 7
Options :

1. ¥ BRAYY I o=

2. % JU Y 3D’

3. % HgIad! gHi

4. % R =@l



Discipline2

Group Number : 7

Group Id : 600929486

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline2

Section Id : 600929641

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 600929769

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 60092911790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 fadwedl T oge 9 31! YT Haet i O Tefd I &l gfw?
Options :

1. % Y T G - YAt Dt TG YT




2. % GUIVIE a1 - T30 & WY
3. % BRARTY S - AT W T UG B
4. ¢ 93 Mfde Y - W BT a1

Question Number : 121 Question Id : 60092911790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e faepedl # TRge o ITe! STeHbYT Heith grT # Terd i 1 g
Options :

1. ® YIH <aTe STt - YAt i SiTeHb Ul

2. % UG dIY - T30 & WY

3. % gRAIRTY T - 1 Y] T IS Hee

4. ¥ Y3 TNfdg G - W HI &1

Question Number : 122 Question Id : 60092911791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HAH BT RuTe! & oEe A fhgas Sita o1 uikad faar g2
Options :

1. % YRdg sRes

2. % SN IR Yo

3. ¢ UHdg

4, % AR

Question Number : 122 Question Id : 60092911791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HAH BT RS H g A fhads sftad &1 ufvad fean g2
Options :

1. ® YRdg gRys

2. % N IR Yo




3. ¢ U
4. % MY

Question Number : 123 Question Id : 60092911792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9§ Q {59 dass & a1 & &9 I /T SIdT 82
Options :

1. % T gaXar

2. % 3. AGAT T

3. ¢ 3{TAR HAS Yo

4. % ST

Question Number : 123 Question Id : 60092911792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 o O fohw e &1 SiTaleHT & &3 T JTe T ST 67
Options :

1. % U gelay

2. % ST yHfaery g

3. ¢ S AR Yo

4. % B A%

Question Number : 124 Question Id : 60092911793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad & I - Heri SRieR UG gRT ! 718 87
Options :

1. % I dY Y

2. ¥ T8I

3. % 3G




4. ® IHat fbar

Question Number : 124 Question Id : 60092911793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol & ¥ - Her SHR YT gRT fordt 1S 82
Options :

1. % I YT

2. ¢ &l

3. % 318

4. % Jhl el

Question Number : 125 Question Id : 60092911794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FYHT P ot IU=I forer feram
Options :

1. ¥ UfS g9 Il IT

2. % I AT

3. % SRR UdIG

4. % TIURATY DIRD

Question Number : 125 Question Id : 60092911794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FY3HT B! 9t IG=U foba feram
Options :

1. ¢ UiS o9 M1 3T

2. % TIRY Rl

3. % SORHR YdTIq

4. % YT DIfRD




Question Number : 126 Question Id : 60092911795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CaPiHed Tt gRT fifad dgaiar fed R &1 Iu-ary 82
Options :

1. % g1l

2. % UfeiRi®

3. % St

4. ¢ faeredt

Question Number : 126 Question Id : 60092911795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S e W gRT foifad Tgeidn ford TR &1 Iu=aTd 82
Options :

1. % QSIS

2. % UfaeiRI®

3. % St

4, ¢ T

Question Number : 127 Question Id : 60092911796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TiE B O B I HET H HET 82
Options :

1. ¢ YR {9 & ged & dgHl

2. % YR AegHa & A o s
3. % I q DI HgH

4. % HfRI&T D UMY DI BTl



Question Number : 127 Question Id : 60092911796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UG B T B AT BT Bl BT 67
Options :

1. ¢ YR fHa™ & ged & dgHl

2. % YR HeFHT & At &) B!
3. % I I Bl ha

4. % 3R&T P MUY Bl B!

Question Number : 128 Question Id : 60092911797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3{TIeHT ScT I farads gIRT foraT T 82
Options :

1. ¢ T HeRT

2. % gl i

3. % SN Giad!

4. % i A

Question Number : 128 Question Id : 60092911797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T St IT-A fobda gIRT foram mar g2
Options :

1. ¥ T YRt

2. % Tgar T

3. % HWN Hied!

4. % Tifq HegmT

Question Number : 129 Question Id : 60092911798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faffad dwe! & @ feus wirures Fey Rigemy &1 Riesr § 9yied 82
Options :

1. % YRdg aRYs

2. % YUATIARII0 iy

3. % I o AN

4. T THE TR

Question Number : 129 Question Id : 60092911798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRed et 8§ 4 fes avards ey Rigwmy &1 faesr & Wfed 87
Options :

1. ® YRdg siex

2. % JATURI Ay

3. % SHfTyehT g U™

4. A THE TR

Question Number : 130 Question Id : 60092911799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafefed Fdy-ue! § A -9 908 YHdR YRl gRT feram a1 761 82
Options :

1. % & R fgAme™

2. % PHgAl-3TheH]

3. ¢ TN b I

4. % UG

Question Number : 130 Question Id : 60092911799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFrafefed Fdy-ue! § A -9 908 YHdR YRl gRT feram a1 761 82
Options :

1. % & R fgAme™

2. % PHgAl-3TheH]

3. ¢ TN b I

4. % UG

Question Number : 131 Question Id : 60092911800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG & SrpTa WR g &l oae = querl & e Rarars ferar 82
Options :

1. % HIJdRRU SUTHTY

2. % HoITATS Y THTDH

3. % MR
4. ¢ Y 9q

Question Number : 131 Question Id : 60092911800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST & ST W g &l e = qr! & diar Rarars forar g2
Options :

1. *® HITJdRRUI UTHE™

2. % DT (Y THIB
3. % RY
4. ¢ I 9q

Question Number : 132 Question Id : 60092911801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



"¢d IR fagR e T 82
Options :

1. # ugr Rig wmAf

2. ¢ HUAERI iy

3. % Yy

4. % AT HITGHEH

Question Number : 132 Question Id : 60092911801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"3d 3R fog R fbaep! g&iep 82
Options :

1. % 37 Rig =

2. ¢ HUISERI Y

3. % fhydy

4. % AT YIGHEH

Question Number : 133 Question Id : 60092911802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gt g fegeT ST 82
Options :

1. ¢ RIaysH Jgma

2. % oS g

3. % fR1g-q W8

4. % BYHR O

Question Number : 133 Question Id : 60092911802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SEId! gf T fhyeT U= g2




Options :

1. ¢ TRIaysH 98/
2. % g JgTd
3. % fR1a-qd g8
4. % YA O

Question Number : 134 Question Id : 60092911803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STereiC fawTas UTH| gg-e T gt g faemufa ot foew o 1 ufda |2
Options :

1. ¢ Difdaar

2. % PHifTdIRT

3. % fergHTad

4. % YO

Question Number : 134 Question Id : 60092911803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qTadG fawiag HTW| geHie @IS g o) faamafa &1 ford Yo &1 dfda &2
Options :

1. ¢ Bifcierd

2. % Pifudich!

3. # fergrac!

4. % YORehHT

Question Number : 135 Question Id : 60092911804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
- G I TR BRIY , S, Fell AR D"




AR YT & i 9 dfekaar o id o1 g2
Options :

1. % g UaTe fgadh
2. ¢ YiEHe ud
3. % TgIedt aa

4. % SIOYDHI UG

Question Number : 135 Question Id : 60092911804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G- G B! §R BRIY , ST, ol TR} D"
AR YT § i g dfdaar ford i ot g2
Options :

1. % g UTe fgadh
2. ¢ YiEHe ud
3. % TgIedt qa

4. % SIOYDHI UG

Question Number : 136 Question Id : 60092911805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'gf T Hfea @ O 8 A ey T o B | ey & favg 7 ug 1 fhy awe B18?
Options :

1. * ORI oG fgad

2. ¢ JHEG Yo

3. % 8] WMYeR g™

4. % STANR

Question Number : 136 Question Id : 60092911805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

"gf 7wl & BT g Ot ey T B Huel g ey & fawg # ug 1d foy s #1382
Options :

1. % BRI U9TG fgad

2. ¢ MG YA

3. % Sl WUHYR ™

4. % STAR

Question Number : 137 Question Id : 60092911806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & Q -1 HYT TTed 82

Options :

1. ¥ SR Gl goll o T9dF J

2. % DR THER & faR1et &

3. % HER P IH AT §

4. % HAR Fel DI SRTY WD B gogd AATHR B &

Question Number : 137 Question Id : 60092911806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5 7 A HH-91 Sy TTerd 82

Options :

1. ¢ HER G ol & qYd® o

2. % DHIR TAER & faRid g

3. % HAR P IH S §

4. % HIR T DI SRIEAT WY B geg TATHR HRd &

Question Number : 138 Question Id : 60092911807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3ffer gelt T8 ) IR 3| fpaet ST 22
Options :

1. % fiqmof

2. % BIP

3. % 3[HH

4. ¥ IHG

Question Number : 138 Question Id : 60092911807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3ifa et T8 &l AR g forde! Ifad 82
Options :

1. % feidraof

2. % BIGR

3. % 3cTH

4. ¢ IHG

Question Number : 139 Question Id : 60092911808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Joriar st A 9 4 9 ford 7% A IRl &1 3ieqg fham
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. rgaTEry
2. |G

3. RG Wi
4. G AT



Question Number : 139 Question Id : 60092911808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JerRitar Sit = 9 1 9 fohd % 9 Rl BT 31ega faam
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. YreaTard

2. MG

3. WG

4. QG A

Question Number : 140 Question Id : 60092911809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARNYS FHTST &b HRITAD DI U2
Options :

1. ¢ el ol

2. % ST dIAR™

3. % ARIYUN]S

4. % faqs

Question Number : 140 Question Id : 60092911809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TARNYS FHTST & HRITAD DI U2
Options :

1. ¢ S ol

2. # g dIaR™

3. ¥ ARTUIS



Discipline3
Group Number : 8
Group Id : 600929487
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline3
Section Id : 600929642
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929770
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 60092911810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I R P Gfd BN &) b1 710 e g I fhgdT HU 82



Options :

1. % YRdg sex

2. % dIIhW Hg

3. ¥ HRIAR yag fgad!
4. % AT Yo

Question Number : 141 Question Id : 60092911810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IE IR S TRIT BV & BT 719 TR B 1! {1 B 82
Options :

1. % YRdg sRYs

2. % dlcfpW Hg

3. ¢ HEIaR g fgdd!

4. % 3T Y

Question Number : 142 Question Id : 60092911811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RO T BT WIE &2
Options :

1. ® IHHHAR qH

2. % faTaR

3. ¢ ARG agaal

4. % YTl 9ROT qA]

Question Number : 142 Question Id : 60092911811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R fTepT pTo TUg 82

Options :




1. ® IHHHAR qH

2. % feHR

3. ¢ UG gddel
4. % YT IROT A

Question Number : 143 Question Id : 60092911812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"SRR X AT AIHY, UBT B A1 ", T8 i [y Hfd 3T g2
Options :

|. % HeRe™

2. ¥ Hdhald

3. % dqa™

4. % JgHCN™

Question Number : 143 Question Id : 60092911812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"SRR X AT DN, UBT B A1 ", T8 Ifad [ Hid BT 52
Options :

|. % HdRe™

2. ¥ Hdhald

3. % HqqN™

4. % QAN

Question Number : 144 Question Id : 60092911813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faTa ufeT foog e  ferdll 182

Options :
1. % I¥hd



2. % Godt
3. % §ITcl
4. ¥ FISTHTYT

Question Number : 144 Question Id : 60092911813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fag ufdiesr farg o o feral 72
Options :

1. % 9&pd

2. % Golret

3. % §IrQ

4. ¥ SSTHY]

Question Number : 145 Question Id : 60092911814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRNTR & TfeT & Wil B 82
Options :

1. %dq

2. % AfeR™

3. ¥ B

4. % fymaon

Question Number : 145 Question Id : 60092911814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SEITR oY AT & AR DI 62
Options :

1. % gd

2. % HiRM




3. ¢ HYG
4. % famaoft

Question Number : 146 Question Id : 60092911815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad #  ®H-91 3 Tor Hied 4RT &1 Hia T8t 82
Options :

1. % Q-

2. % PN

3. % dqa™

4. P

Question Number : 146 Question Id : 60092911815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafied & | -9 Sfa W 4iFT YRT &7 B3 T8l 22
Options :

1. % 3JQH

2. % QRN

3. % JaqM

4. ¥ pdd

Question Number : 147 Question Id : 60092911816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HiaT IATH BT TGP DI 57
Options :

1. % qgavg Ty

2. % RITHGH

3. ¢ AUl




4. ® HYESN

Question Number : 147 Question Id : 60092911816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIqT IATH BT AGD B &7
Options :

1. % qavg Ty

2. % RITHGH

3. ¢ AUl

4. % HREGH

Question Number : 148 Question Id : 60092911817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hifcierdr BT HIST T 52

Options :

1. #® §qf

2. % 3adi

3. ¢ TAfgd amyw

4. % TrpA

Question Number : 148 Question Id : 60092911817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BfcTerar B HTST T g2

Options :

1. % 8

2. % 3fqdi

3. ¢ THigd emyw

4. % ypa



Question Number : 149 Question Id : 60092911818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FOIHTHT T HIH-91 Hid g gl & forg favema g2
Options :

1. ¢ Gl

2. ® Usllh

3. % ¢

4. % HiRM

Question Number : 149 Question Id : 60092911818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SISTHTNT 1 D 1H-TT Hid Fq qui & fore faveard 82
Options :

1. ¢ 7l

2. % U}

3. % g

4. % HfoR™

Question Number : 150 Question Id : 60092911819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fohg i Bt T UHTTAd BIhR 3fehaR A MY §ig HRd faaT Ui
Options :

1. ¢ Td qIg a1

2. % T

3. % TAMUd

4, % 3AIH



Question Number : 150 Question Id : 60092911819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fohe HId BT T I YU IR 3HeR A Ay §g Hal [T U2
Options :

1. ¢ d alg aard

2. % T

3. % AUl

4. % 3IdH

Question Number : 151 Question Id : 60092911820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TIRTST T BT AT DI Y12

Options :

1. ¢ HidRH

2. ® U}

3. % ¢d

4. % fydmaoh

Question Number : 151 Question Id : 60092911820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TIRIST T BT AT DI T2

Options :

1. ¢ "iaR™

2. ® Usllh

3. % qd

4. % ffamoft

Question Number : 152 Question Id : 60092911821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

"gTg Tot H YRETAT & TTg-1 B T[T 51> Ul ford i &1 72
Options :

1. % HRCHRRO T

2. % IWYRT Rig feqde

3. % RRRMRRO T

4.« AIGATE Tddel

Question Number : 152 Question Id : 60092911821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"2Tg TET H YRETA P e H 7T o Ufdaar fh g i3 31 82
Options :

1. % AR T

2. % YAYRI Rig e

3. % RIRMRRO

4. ¢ ARG Idqdet

Question Number : 153 Question Id : 60092911822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WHRTIUT G108 T YfaveTd HeThTed HIH-91 82
Options :

1. % X0 Udig

2. % AYAY qY

3. ¥ Bealurdt

4. % Hoa

Question Number : 153 Question Id : 60092911822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
ARG G108 T YfaveTd HeThTed HIH-91 82
Options :

1. % X0 Udig

2. % AYAY qY

3. ¥ Bealurdt

4. % Hoa

Question Number : 154 Question Id : 60092911823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"3 H fh e X9 &1 UUTa1 82
Options :

1. # g Y

2. % YA

3. ¥ HI0IY

4. % 3qHd ™

Question Number : 154 Question Id : 60092911823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"3 T o T BT 9T 82
Options :

1. #* gl

2. % A Y

3. ¥ PIUIY

4. % 3gHd ¥

Question Number : 155 Question Id : 60092911824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AR T & ford T4 T G850 &1 Ul ST &1 Y IRF-9uH g2
Options :

1. % YR YRl

2. % Ggdel

3. ¢ Tldhd

4. % IR

Question Number : 155 Question Id : 60092911824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR T & ford T4 T T&H0T &1 Ul STHAT 1 Yax IRA-g0H g2
Options :

1. % YRd YRl

2. % Ggact

3. ¥ Wichd

4, % gIR

Question Number : 156 Question Id : 60092911825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YNU[ & P B UTNT -1 i

Options :

1. % 3qdi

2. % JISRYMI

3. % YIogR

4. ¢ 9

Question Number : 156 Question Id : 60092911825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YYUT & 1o Dl HINT T 4?2



Options :

1. % 3fqeil

2. % ISR
3. % YoTgd

4. ¢ Sl

Question Number : 157 Question Id : 60092911826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STt o UsITad | ORIaat dal &l AoGHRT e
Options :

1. % fodrs

2. ¢ ¥igargln

3. % ARG

4. % 3fdfdet

Question Number : 157 Question Id : 60092911826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST o U=ITad | ORIacr dal &f AopaART e
Options :

1. % fodis

2. ¢ Rigaglu

3. % ARG

4. % 3fdfdet

Question Number : 158 Question Id : 60092911827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fasweal # @ oH-91 fasey - fou 71U wreg &1 Il yuigareh Reg el 82




S{UTel
Options :

1. ¢ 3T
2. % 3fd
3. % SRR
4, % 3{HY

Question Number : 158 Question Id : 60092911827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fasweal § @ oH-91 fasey i fou 71U veg &1 T yuiaare) Xsg el 82

S{UTel
Options :

1. ¢ 3Tt
2. % 3fdd
3. % b
4, % AHHY

Question Number : 159 Question Id : 60092911828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o fosed o 9 39 fasey 1 g ot faT U 2sg & wg! sl U arell faswed 781 3|
HY

Options :
1. % X
2. ¢ Hal
3. % TH G

4. % g4d



Question Number : 159 Question Id : 60092911828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 9 39 fdsed & g+ S faT 77U Xreq & 8 SHeTif U ara fadwed g 6

Y
Options :

1. % Eq
2. ¢ Hal
3. % UdH el
4. % ggd

Question Number : 160 Question Id : 60092911829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 faepedl & HIH-91 fased i< faU T8 2z &1 e} fehv Teg &2
1oy

Options :

1. # Hodl

2. # 3P

3. ¢ fARIfAy
4. % Y

Question Number : 160 Question Id : 60092911829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fasweal § @ oH-91 fawey - fou 7Tt vreg &1 98! fady wss 82
rfery

Options :
1. % Hdl




2. %8 I
3.« Ay
4. % 3RE

Discipline4
Group Number : 9
Group Id : 600929488
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline4
Section Id : 600929643
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929771
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 60092911830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 3 fadhey &1 90 B3 off ST ¥ 94 Weg &1 Tal fadhed a1 g
Options :

1. % AR

2. ¢ Sedle

3. % RMR

4. % foRIg

Question Number : 161 Question Id : 60092911830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fdshey &1 98 B3 of ST ¥ 94 Weg 1 ol fadhed 181 8|
Options :

1. # R

2. ¢ Hglidl

3. % R

4. % fRIY

Question Number : 162 Question Id : 60092911831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 9 39 faded &1 99 Sifod off T 7TE THue & Ta! g7 99 &1 fdeed g
form

Options :

1. ¢ T T &1 GHER

2. % AFT Y

3. % Q9 {1 arel

4. % qH 3T

Question Number : 162 Question Id : 60092911831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl # ¥ 39 fadwey o1 Tg4 FIfTE off 3T 7N 9aue & T8 fg7] T &1 faded g
ferm

Options :

1. ¢ T T T GHBR

2. % AFTNY

R AGIERUICIS|

4. % qH T

Question Number : 163 Question Id : 60092911832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 ol & @ 39 fashey &1 9u- Pifore o faT U fave & Il grdue &1 fased g

RAIPD DI THA
Options :

1. ® RAGHT
2. % TRABITHA
3. % R

4. ¥ IRABITHA

Question Number : 163 Question Id : 60092911832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § 39 fawrey &1 997 SifvTe o 3w 17u faug & I gawdue &1 fdwe 3|

RAIP DI THA
Options :

1. % WRalhHA
2. % TRAIPITHA




3. % IR
4. ¢ TAIHTHA

Question Number : 164 Question Id : 60092911833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ot & @ -1 faweu = fT 77U vsg &1 98t vufuareh 2eg 81 82
3I®

Options :

1. # 3dHPh
2. ¥ BR

3. % Jhgh
4. % gl

Question Number : 164 Question Id : 60092911833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faepedl § ¥ SH-I1 [Ipey 9 fau 7T Teg &1 9Et yafgarh s et 22
3D

Options :

1. % 3P
2. ¥ BR

3. ® plgh
4. % TEHl

Question Number : 165 Question Id : 60092911834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 faeedl & 9 39 fashed o1 T P Sl faT T FHKAUG & gl B0 degoy GHY b1 faehed B




HATp el

Options :

1. ¢ YO Y 3pd
2. % YG &l 3pd
3. % YO T 3P
4. % YG P 3ATpd

Question Number : 165 Question Id : 60092911834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
79 famedl § ¥ 39 fasmed &1 9a- HIfoTE off 3T 7Y HwaUG & Tg! H01 ass TH &1 f[ddhed g

HUTp

Options :

1. ¥ Y 9 3Ipd
2. % YT &l AP
3. % YO ¥ 3pd
4. % Y D] ATpd

Question Number : 166 Question Id : 60092911835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o fosed o 9 39 fasey 1 g ot faT U 2sg & wg! sl U arell faswed 781 3|

ol
Options :
1. % oY
2. % Tql
3. % tol
4.« HITA



Question Number : 166 Question Id : 60092911835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 9 39 fdsed & g+ S faT 77U Xreq & 8 SHeTif U ara fadwed g 6

Ihdd
Options :
1. % olH
2. % Tq
3. % die
4. ¥ HITA

Question Number : 167 Question Id : 60092911836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faeredl 1 A 39 fadey 1 T B S 3 ST A &1 el Teg g
Options :

1. #® 3&R

2.9 3™

3. % JHbld

4. % IR

Question Number : 167 Question Id : 60092911836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawmeat 7 O 3 fahed o7 70 &R Sl 3 IUT T §1 el W<, g
Options :

1. % 3f&R

2. ¢ AN

3. % 3{pld

4. % AHJIR




Question Number : 168 Question Id : 60092911837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 39 famed &1 gMAT 1 fau 7T Weg-g &1 Ta! o1 arel [dded g

urgy-uray
Options :

1. % AR

2. % yHI-aul

3. ¥ GR-aN B,
4. % RWR

Question Number : 168 Question Id : 60092911837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 fasedl o 39 fawed o1 gfAT ot fau 7T Weg-gm &1 Tet o1 arer faded g

Ug-uTad
Options :

1. % OFLIR

2. % gHI-guf

3. ¢ WR-AN B,
4. % GRIR

Question Number : 169 Question Id : 60092911838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawedl & § HH-91 fawey - 3T T Tsg o1 Ut faay Ueg 82
STH

Options :




1. % ford
2. % P
3. ¢ RYTR
4. % 3T

Question Number : 169 Question Id : 60092911838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fasweal § @ oH-91 fasey - fou 7Tt vreg &1 I8! fady wsg 82
ST

Options :

1. % favd

2. % H

3. ¢ YA

4. % 3T

Question Number : 170 Question Id : 60092911839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 fadedl & I 39 aded &1 94 SO S Udarae I3 &1 ! [ddHed Tl g
Options :

1. % Hifd

2. ¢ §R

3. % 9iely

4. % e

Question Number : 170 Question Id : 60092911839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fameal & § 3 fahed &1 997 ST S Higars U1 &1 el fawed 781 g




Options :
1. % Sifd
2. ¢ 4R
3. % TIgTg
4. % <iferm

Question Number : 171 Question Id : 60092911840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 fasmedl o 9 39 faded &1 99 HITY o 30 3N a1 -4 &1 Ja! [ddhed g
Options :

R

2.¥4d

3. % gHRI

4. % R

Question Number : 171 Question Id : 60092911840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 famedl o 9 39 faded &1 997 SIS off 31 T3V a1 -1 &1 el [ddHed g
Options :

%

2.¥d

3. % gHRI

4. % O

Question Number : 172 Question Id : 60092911841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

77 fomedl o ¥ 3 fdsed &1 9a HIfoTe il faU T4 a1 & S1aR faRIvur & Ue &1 95! [deed gl




H (@) B T g|
Options :

1. % GRHT0T aradh
2. ® FrEAHG

3. « TUrATIh

4. % JEAAED

Question Number : 172 Question Id : 60092911841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § 39 fawed &1 99 SIfoTE off 3T T a9 & SR fa=wor & U &1 9e! fadwed 8|

A (o) ®d A g|
Options :

1. % gRY dIdh
2. % IS

3. ¢ TUATEh

4. % JEAGrD

Question Number : 173 Question Id : 60092911842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3% ol T ¥ 3 fddhed &1 9g+ HIfoTE it faU T8 a1e & SAR To! RV UgaY &1 fddhed 3|
S e aTelt MRt Urg: See uNidtar grdl

Options :

1. % EEIGT BN §

2. % B! TEIETI gl 8
3. % TfSar

4. A9 9 arel



Question Number : 173 Question Id : 60092911842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% fashedl & @ I fddhed o1 g4 PIfoTe il faT T8 gt & SUR gl fa=ivur ugey o1 fadwed 7|
Sl T aTelt ST urg: gas! e gt g |

Options :

1. % gHdlar gidl o

2. % Fa! UESer gl 8
3. % ST

4. Q9 IaH dreit

Question Number : 174 Question Id : 60092911843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{74 a1 § g 3T T yal &1 e arer fdeed gy
I H (R dP) TR gelt EH |

Options :

1. ¢ fopar farmom

2. % M

3. % T3YArad Ja4H
4, % Y

Question Number : 174 Question Id : 60092911843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{9 a1 H BIgeh H 4T TN UGl o1 aR=g a1e fashed gAY
I H (&R d) SR it |

Options :

1. ¢ oo fa=yo



2. % 9
3. % J3Yarad Ja4H
4. % 3

Question Number : 175 Question Id : 60092911844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
% fdshedl & @ I fddhed o1 94 PIfoTE il faT 7T a1 & S8R gl 30T Ugse &1 f[ddhed g

30 IHHE & 1Y I8 I 47|
Options :

1. % 304 qHHE & Iy

2. % % Y IAT AT

3.¢ 5y

4. % AT

Question Number : 175 Question Id : 60092911844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 ol T 9§ 3 fddhed &1 9g- HIfoTE i faT U a1 & SAR g 30 Ugad &l faddhed g

30 ITHHE & 1Y I8 Il 47|
Options :

1. % 3O qTHHE & 1Y

2. % o Y I 1

3. ¢ &Y

4. % AT

Question Number : 176 Question Id : 60092911845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & 9§ 39 fashey &1 98- PHifoTe off Sifdarad T3 &1 Ue! fdwed g




Options :

1. % ald

2. % el

3. % ARSI
4. 94

Question Number : 176 Question Id : 60092911845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 31 fashey &1 98- PHifore o Sifdaras T3 &1 98! fdwed 3|
Options :

1. # ald

2. % HEl

3. % 3ARBI

4. Q4

Question Number : 177 Question Id : 60092911846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{4 a1 T BI8e T 3T U Uel o1 uRad ara fased gy

3uaH H (Ya?) Bdl fed |
Options :

1. # T GoY drad qa-d
2. % YUY T

3. ¢ TUIdTee faRIor

4. % fopar

Question Number : 177 Question Id : 60092911846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



{4 a1 § g d 4T T uGl &1 R arer fdeed gy

e 7 (Jax) B R §
Options :

1. % Y 3V dradh Ja-MH
2. % gYSIUD Y

3. ¢ UG faRIVor

4. % fopa

Question Number : 178 Question Id : 60092911847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawedl & I 39 fawed &1 99+ HIfoTE off 3T T a1 & SFAR 9 & U &1 el fadhed 8|

(@g) fh Ty 3 |
Options :

1. ® UYdrad

2. ¢ (AYgara®

3. % dYdrasdh

4. % fASIdra®

Question Number : 178 Question Id : 60092911847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 famedl 4 ¥ 39 fddwed o1 9g- HIFT off 3T TN 16 o AR A= o UG &1 ol fddhed 7

@g) foh Uy 3mar |
Options :

1. % Yydrdh

2. ¢ (Aygara®

3. % dYydrasdh

4. % Sara®




Question Number : 179 Question Id : 60092911848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 fawedl T I 34 [dded &1 984 SO S Uidaraes I3 &1 el [ddHed ol o)
Options :

1. % ¥dbldc

2. % QY

3. ¢ gt

4. % HYAT

Question Number : 179 Question Id : 60092911848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 fasedl & & 39 fddey 31 9o ST S HIGaTad U3 H1 Yo [aded el o
Options :

1. ¥ ¥>ch[dc

2. % Y

3.+ gl

4. % HYT

Question Number : 180 Question Id : 60092911849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faswedl & I 39 fdebed &1 99+ HIfT il fAT 7T a1y o AR ol fobal sy &1 fdebed g
RIAIFR I REE @R

Options :

1. % A RIAT
2. % g IgA

3. % RIAG



4. ¢ GRS @R

Question Number : 180 Question Id : 60092911849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 fadhed! @ 9 39 fddhed o1 994 PIfSTE il faT 7T a1 & S8R el fhar ugey o1 fdbe g

TR R A G AW I @

Options :

I ®AGARIAT

2. % g

3. % QWAE

4. ¢ Q@ A3EI7
Discipline5

Group Number : 10

Group Id : 600929489

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline5

Section Id : 600929644

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929772
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 60092911850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faswedl & I 39 fdded &1 99 SIfT o 3T 7T a1 & SR fa=wor & U &1 Ig! fadbed 3|
AR faemea § (&1 4t faemf) ugd § |

Options :
IEINCIEED

2. % gRHTUARIS
3. « J-AGRSD
4. % IS

Question Number : 181 Question Id : 60092911850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § 39 fawed &1 99 SIfoTE off 3T T a9 & SR fa=wor & U &1 9e! fadwed 8|
TR faarea & (& 4 fendf) uga €1

Options :

1. % TUIATEIh

2. % URHATUEES
3. ¢ JRAAD
4. % IS




Question Number : 182 Question Id : 60092911851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad fawenl o degaras® argd &1 98! fdsed gy
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. XH T AHT IR g

2. 1 3 B R e

3. 999 FITHT 8|

4. GIRY 3{TTeAT & T g

Question Number : 182 Question Id : 60092911851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed fawed & degaras are &1 98! fased gy
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. M &1 HHTH IR g

2. 1 I D1 DR ferm

3. 9998 WY Bl|

4. TIRY 3{TTeAT & ST g

Question Number : 183 Question Id : 60092911852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad o ¥ IExa &1 ol fddwed gy



3o 1s Hi Tl &7 1 B B BT AR |
Options :

1. % 3o

2. % fpdy o oft

3. ¢ 3D d i Hi

4. % HH P DI IR T

Question Number : 183 Question Id : 60092911852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad o ¥ IExa &1 el fddwed gy
3fToTh el 1S+t fopelt b1 +ft BT B B AR B

Options :

1. % 3NIhd

2. % ot ot ot

3. ¥ 3ol d i ol

4. % HH A DI IR §

Question Number : 184 Question Id : 60092911853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffRifad g & I3 o1 e} ooy vy
TRT HTS Rrae STt fac=r S|

Options :

RIS

2. % fqqur S

3. % 3fTol fag=T SQm
4.« TRT 4TS ey



Question Number : 184 Question Id : 60092911853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfRIRId IR H I5 =T BT ! fdehed gy
TRT 4TS fRraw o fac=r smem,

Options :

1. % U

2. % fagrsmum

3. % TS fadwr e
4. ¥ TRT TS Rraq

Question Number : 185 Question Id : 60092911854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 fawedt & 3§ iy a1eg &1 gy

Options :

1. % BT Sled] GHTE B SR TR I3

2. ¢ IQ I Ay g b a8 30 11 W W g1 ST
3. % O g iy ok & q¥d 9@ U,

4. % T TEHT T B o]

Question Number : 185 Question Id : 60092911854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
% fasmeal o 1 iy 9199 1 ugdnAy

Options :

1. # BT Sea! JHTE B 3R TR 3

2. ¥ I R oy g b a8 319 &1 § o g) STe|
3. % T T3 e ofR # @¥d 9 ey,

4. % T3 e T R fom




Question Number : 186 Question Id : 60092911855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad o B $I18 T faU T Wsg &1 IUaTed &1 - Fd18y|
U B UYH ST Hiifb a8 (Fgd Hedl o))

Options :

1. % 1 IUdIeRT

2. % gIAH I

3. % fopar foRivoT Suarey
4. ¢ TqRIV01 IUATH

Question Number : 186 Question Id : 60092911855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed ot & HIge | faU U Wsg 61 IUATR &1 A1 1=y
SO T UM ST i 98 (Fgd Heal 3))

Options :

1. % T 3UdTR

2. % Y Iy

3. % fopar faRIvor IuaTa
4. ¢ faRIYUT JuaTH

Question Number : 187 Question Id : 60092911856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
% fashedl ¥ Tgad a1 & Ugan-y
Options :

1. % o1 98 Ug! 3 T

2.+ gad did S1dT § R 91d I1e 384t g




3. % Uy ifd TR 9|
4. % T QAT S @)

Question Number : 187 Question Id : 60092911856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
79 faswedl & I Igad a1 & ggdHy|
Options :

1. % Fg79g Tgl 311 T

2.« 39 Sid 91T § TR ST 31E 8 g
3. % Ul Qifd 9910 3|

4. % T QT T8 @

Question Number : 188 Question Id : 60092911857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad fasedl H SwoTarce a1 &1 Ha! fddhed gAY
Options :

. % YR TP <N g

2. v WA B JH URTEN H 3w b s

3. % 98 9 UG el & o I & YRl 8]

4. % YA G g fob 98 SRaR |

Question Number : 188 Question Id : 60092911857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafofad faw el # sTarde dared &1 Jgl fased gy
Options :

1. % YRJ TP QX3

2. YA B JH URIEN | 3w 3ich flal]

3. % 98 39 U 8l & b I o YRl 8]




4, % T8 [P 98 sraw |

Question Number : 189 Question Id : 60092911858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAftaRad ot # I &1 9&l fawey yganig
98 11T g 35T BTH Bl 3|

Options :

1. ¢ 98 Sifcre!

2. % g 3

3. % HH A §

4. % §gd 3B HH B §

Question Number : 189 Question Id : 60092911858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAftafaa area ¥ 35 &1 I8! fddwed ugdy

Ig SIfTehT Igd 33T HH Hl 8
Options :

|. ¢ g dIfeihT

2. % §gd 3T

3. % HH A §

4. % 9gd 3D HTH Bl §

Question Number : 190 Question Id : 60092911859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfRiRad oo 8§ g &1 9 fdeeu gy
YR AR g0 R Y AR @&



Options :

1. % JRARTgA X ¥
2. ¥ Sgd RATE@I
3. % AR AR

4. % RIET B

Question Number : 190 Question Id : 60092911859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfrarRad area # fada &1 98! fawey ug=any
Yer IR 9gd R Y T ET B

Options :

1. % AR TgA R Y
2. ¥ Sgd R ATA@I
3. % JRUR

4. % EIE G

Question Number : 191 Question Id : 60092911860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{75 faepedl § Q@ TG a1es &l Ugy

Options :

1. * gEUd Y IT BT

2. % o] o e B § U

3. ¥ 98 3 W d § U1 § 3R 98 W I9d IR & U ]|
4. % T 9gd YH T G|

Question Number : 191 Question Id : 60092911860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



39 o el O § Tgad are &1 ugdny)

Options :

1. % QP Ud 4 3cT BT g

2. % T forg e A g Uge B

3. ¥ 98 3 W d § U1 § 3R 98 W I9d IR & U ]|
4. % ¥ gd UP T

Question Number : 192 Question Id : 60092911861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e fasmedt & 9 firy a1e &) yg=nfAy
Options :

1. % 39 9HY 9l g A BIc Ug |

2. ¢ I 3TY ST S A T S TS|

3. % gg fad TR ugan g

4. % 98 Yol g1 IHIER 7 81 IR 331 ¢

Question Number : 192 Question Id : 60092911861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 fawedt & 3§ iy a1eg &1 gy
Options :

1. % 39T Tl g ol Die Ugd o

2. ¢ I 37T 31T ¢ A H S ORS|

3. % 98 fad TR Ued ¢

4. % I8 Y S TR 7 B W BT g

Question Number : 193 Question Id : 60092911862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad 9T & SAR T I &1 fadhed Jarsy




39 Fel foh 38 $o it 781 U
Options :

1. ¢ I $o Ui 781 U

2. % %l fb I

3. % g1 Udl

4, % 394 Pl fb 34

Question Number : 193 Question Id : 60092911862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad 9/ & SAR T I &1 fadhed Jarsy

IG Dgl b I8 $& Hi 81 U
Options :

1. ¢ 3Y @ W 1 Ul

2. % mglfb 3N

3. % gl Udl

4. % 3T Hgl fb 39

Question Number : 194 Question Id : 60092911863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R Y & forae WG 81 &7

Options :

1. % dH

2. % IR

3. ¢ Uih

4, % @

Question Number : 194 Question Id : 60092911863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

WR I F fpad D B o
Options :
1. % dF
2. % IR
3. ¥ UlE
4, % &

Question Number : 195 Question Id : 60092911864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fau U <req] &1 R i aren faded ggang?
T+ S

Options :

1. TTH

2. ® TS

3. % T

4. % TS

Question Number : 195 Question Id : 60092911864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu 77U wect 1 et |y arer faw ey ug=nu?
T+ S

Options :

1. ¢ T
2. % TS
3. % Ty
4. % TT3fY




Question Number : 196 Question Id : 60092911865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu 7T Wee 1 Uat TfY-fawse arer fasey ug=nu?

Options :

1. ¢ 3Q3d + &R
2. % IHFd + 3aR
3. % &I@_cHGﬁ@T
4. % 3l + SR

Question Number : 196 Question Id : 60092911865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

) T e wreg 1 e} RY-Rrede aren ey Teaiie
IPAGR

Options :

1. ¢ 3Qd + I&R
2. % 3HZd + 3aR
3. % 3ed + e
4. % 3dl + SR

Question Number : 197 Question Id : 60092911866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e feu U Trse 1 g8t TfY arar faw ey ug=nfAwe

fa + s
Options :




1. % fgsma
2. ¥ T
3. % fquq
4. % JIOT

Question Number : 197 Question Id : 60092911866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e feu v Trse 1 I8! T arar faw ey ug=nfAwe

fq + e
Options :
1. % faema
2. % Ad
3. % fqud
4. % 9T

Question Number : 198 Question Id : 60092911867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i feu 7T e &1 TE TfY-fa=ye gt fawew uganfw
Hglafy

Options :

1. ¥ Hgl+ 3afd
2. % gl + 3
3. % Hgl+afy
4. % AE +3aY

Question Number : 198 Question Id : 60092911867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



2 feu 7T e &1 TE TfY-fa=de aren fawew uganfw
Hglafy

Options :

1. ¥ Hgl+ Jafd
2. % TGl + 3[4
3. % Ul + Gy
4. % Ug +Hafy

Question Number : 199 Question Id : 60092911868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e feu v Trse 1 g8t T arar faw ey ug=nfAwe

I|'|q+3r|'l7-i?{
Options :

1. % AIJ3AG
2. % HIJq
3. % Af¥dg
4. ¥ HEAG

Question Number : 199 Question Id : 60092911868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu U wrect 1 Tt Y aret faswey uganfaw?

HIJ + 3G
Options :

1. % AIJ3{g
2, %
3. % ARG
4. ¥ HEAG



Question Number : 200 Question Id : 60092911869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fau 7T wree; # yged WY 9 &1 98! fawe gy
e

Options :

1. % gg + 7yl
2. ¥ i + 3
3. % gg + 3
4. % gdt + 3ff4

Question Number : 200 Question Id : 60092911869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 fow e wree § wged €Y e 1 98 faeen gy

BRI
Options :
1. % g+ grdt
2. ¢ Tfe + 3y
3. % gq + 3y
4. % gdl + My

Discipline6
Group Number : 11
Group Id : 600929490
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline6

Section Id : 600929645

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 600929773

Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 60092911870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e feu U wrse 1 g8t IfY arar faw ey ug=nfAwe

T+ 3P
Options :
1. ¥ b
2. % T
3. % 7%
4. % TN3fH

Question Number : 201 Question Id : 60092911870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

e feu U wrsg 1 g8t IfY arar faw ey ug=nfAwe

T+ 3P
Options :
1. ¥ b
2. % T
3. % 7%
4. % TN3fH

Question Number : 202 Question Id : 60092911871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i feu 70 Wrsgi 1 Tat i arell fasdb ey ug=n=a?
B?[Jﬁﬂi‘d

Options :

1. ® Iwld
2. ¢ JARA
3. % JaaRd
4. % IaRd

Question Number : 202 Question Id : 60092911871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e feu U wrsg 1 g8t IfY arar faw ey ug=nfAwe
BT-[+€|'RT‘[

Options :
1. % IR
2. ¢ IR




3. % Idad
® Jad

Question Number : 203 Question Id : 60092911872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 fow e wree # wged ©fY e 1 98 fien gy

SITATY
Options :

1. % ST+ Y
2.9 ST + ATy
3. % O+ A1y
4. & S +A1Y

Question Number : 203 Question Id : 60092911872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 o U wreg & wged Y We &1 98t fadeu gy

SUPIK]
Options :

1. % SET+ Y
2. % S + A1y
3. % ST+ 91y
4. % ST + 1Y

Question Number : 204 Question Id : 60092911873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A fou U e o1 98! TiY-fawe arar fawey ug=nee




RN

Options :

1. ® fgm+ R
2. % fair+ 3[R
3. ¢ fadp + 3R
4. % fai+ R

Question Number : 204 Question Id : 60092911873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I U U Yre o1 Ig! WiY-fawde arer faseu ug=ne?
foTiaR

Options :

1. % fam+ R

2. % &+ 3[R

3. ¥ fdp + 3[R

4. % f&T+

Question Number : 205 Question Id : 60092911874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faftr i wed 82

Options :

1. ¢ foiRad e Hobdl Bl

2. % 3ifdhd B Bl

3. % feeli ol

4. % 9 & WRIDI DI

Question Number : 205 Question Id : 60092911874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
farf ford dgdl &7

Options :

1. ¢ foiRad eafy Hobdl Bl

2. % 3ifhd HRA B

3. % fE Bl

4. % S o RIbI DI

Question Number : 206 Question Id : 60092911875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IS faferaw siat et fUd 82
Options :

1. ¥ DIl

2. % facedl

3. % 4ag

4. % Y]

Question Number : 206 Question Id : 60092911875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
wIE Rt wias e Rud 2
Options :

1. ¢ DIADIAl

2. % faeedl

3. % 4ag

4. % YU

Question Number : 207 Question Id : 60092911876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TS A Std SoTHH, 316 ol BRI Sfws1 < - I8 Ufad forg TuTed & gRT US| 4 I ot 3id & =0 | fordt 782
Options :

1. % YRdg gRgs

2. ¢ UdIg AR Ay

3. % 9IAPHU HS

4. % o1 AfdrEe™

Question Number : 207 Question Id : 60092911876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS AT St SoTHTH, 3§ ol BRI Efws1 & - I8 Ufad foo g TuTed & gRTUTEH! 9 I ot 3t &b =0 | fordt 782

Options :
1. % URdg gRYg
2. ¢ JdIY AR 1Y

3. % SIAHY HE
4. ® qren ffFare™

Question Number : 208 Question Id : 60092911877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR T & sfaer ot wawn 9T i forar 32
Options :

1. # M HUR qAI

2. ¢ ¥ faermy =mf

3. % Hq goR areudt

4. * ORI U4Tq fgad

Question Number : 208 Question Id : 60092911877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR I1fec & Sfaer & TR 5T g forar 82



Options :

1. % I HHAR

2. « I faam zmf
3. % g gaR arerud
4. % BRI TG fgadl

Question Number : 209 Question Id : 60092911878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 ¥ ¥ HH- RR™ IR T B 541 82
Options :

1. ¢ A1 fasrg

2. % YD /WA

3. % fawogfor

4, % RGN

Question Number : 209 Question Id : 60092911878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o & 19 RigRm 2RO T &) =1 82
Options :

1. ¥ T faor

2. % b [

3. % fawogfor

4, % W YA

Question Number : 210 Question Id : 60092911879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forg fd BT URART T BT STl 82

Options :



1. % faTax

2. % DR TE
3. % U9IQ

4. ¥ TREATA Igad!

Question Number : 210 Question Id : 60092911879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forg fd BT URART T BT STl 52
Options :

1. % feTa

2. % TRICHRRO

3. % Udiq

4. ¥ HRGTATS Igdet

Question Number : 211 Question Id : 60092911880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS &1 1 TYTH ShTs [hd T ST 82
Options :

1. % gouf

2. ¥ Xeq

3. % 39

4. % HMAT

Question Number : 211 Question Id : 60092911880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT &1 T T SpIs [hd AT ST 62
Options :

1. % guf




2. g
3. % 3f
4. % @

Question Number : 212 Question Id : 60092911881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PUITE T & AT B A2

Options :

1. % ORI Igdet

2. ¢ TR

3. % giaaary

4. % faATpY

Question Number : 212 Question Id : 60092911881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHUTE M & IR S A2

Question Number : 213 Question Id : 60092911882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 T § HH IR IR TWH & Hid 7ol &7
Options :

1. % ARV Y

2. % YRR T8I i




3. % gl UG 3y
4. 3T

Question Number : 213 Question Id : 60092911882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 & P IR IR & & Hid el &7
Options :

1. % BRARTU A

2. % YRR F8IgR Rig

3. % Yol yTe oy

4. ¥ 3T

Question Number : 214 Question Id : 60092911883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fdeIaRT IUT &1 AT BT A1 FT 3?2
Options :

1. ¥ TGl T

2. % O YSRY

3. % W el

4. % HTQd! gHi

Question Number : 214 Question Id : 60092911883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RITHIERT ST B! TIRADT BT ATH T 82
Options :

1. ¥ GgaT T

2. % O YeR_A

3. % SN Hiad!




4. % Ogled! aaf

Question Number : 215 Question Id : 60092911884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSI HeThTed fohqds gRT Ifrd 82
Options :

1. % DRYRRO T

2. % REPRM IR0

3. ¢ gRafY

4. % IR UISH

Question Number : 215 Question Id : 60092911884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR HeTo e fahdds gRTRad 82
Options :

1. % AR T

2. % RERM IR0

3. ¢ gikafly

4. % FR USH

Question Number : 216 Question Id : 60092911885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 o 9 ford ufieT &1 Yures S 'HRdg sRY% gRT 81 g3 82
Options :

1. % gRejg T

2. % Hidaa-ger

3. % qTar Sife

4.« YRd-fo=




Question Number : 216 Question Id : 60092911885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 & 9 ford ufie &1 Yures srf 'WRdg sy gRT 81 g3 82
Options :

1. % gRefg Tl

2. ® PHidaa-ger

3. % el SifeT

4. ¢ HRd-fom

Question Number : 217 Question Id : 60092911886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

" HE g8 Il STRI &, =3 ol § WR 4|

f&r & o & gof g, 81 T debs | 1 Ok H PH-I1 Ee 82
Options :

1. % Qg

2. ¢ gRafifda

3. % GRAI

4. % AT

Question Number : 217 Question Id : 60092911886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

" el g3 Ul SR &, 7 oI ¥ HR T |

3 & HUT I Ul A1, §1 T Ul 17 | | Uil & D 19-91 8¢ 82
Options :

1. % qIgl

2. ¢ gRafifde

3. % RS



4, % gaar

Question Number : 218 Question Id : 60092911887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"l TR TRI IREYT, A YD oI |

qHIET & SRET, T I THH " T DHIF-T ABR 82
Options :

1. % geplfad

2. % U

3. % XY

4. & JHD

Question Number : 218 Question Id : 60092911887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el TR IRI IREYT, A YD Forr |

q I8 & SXa, zg’wxﬁww A D91 3EHR 82
Options :

1. % gepifad

2. % UM
3. % Y9
4.« gD

Question Number : 219 Question Id : 60092911888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"R TReTA Y ARl Sied w1d & Sral 4t

T 3T IGT B ST B S mdl - A il" § HH-91 39 572
Options :

1. % g




2. ¥ YOFH
3 % o
4. % g

Question Number : 219 Question Id : 60092911888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"R TReTA g ARl $ied H1d & Sral 4|

TSt T &1 BT I B Tt ra - A il & HIH-7 3 82
Options :

1. % 4

2. ¢ YOHS

3. % 3qYd

4. % g

Question Number : 220 Question Id : 60092911889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

femTfe: T 71 ¥ U e WRelT

Y YHT JHsod ol IddAd Yh Rl

3 IR 4 1, g fow Jra o,

UIRd qUg Uy §, §1¢ T, 9¢ Il H SH-91 8¢ 87

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. femmare

2. pUSier

3. WY
4.3y




Question Number : 220 Question Id : 60092911889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

femTfe: T 71 ¥ Ut Y WRelt

Y YHT Hosod AT AT YhRd|

3 IR T 81, T¢- Wi i o,

UG qUg Uy g, §¢ I, 9¢ Il H SH-91 8¢ 82

Note: For this question, discrepancy is found in question/answer. So,this
question is 1gnored for all candidates.

Options :
1. feamare
2. pUSTerl
3.9WY
4. 3
Discipline?
Group Number : 12
Group Id : 600929491
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline7

Section Id : 600929646



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929774
Question Shuffling Allowed : Yes

Question Number : 221 Question Id : 60092911890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"RITY HTG STe faHTE, SHTT Td et UGl o I & S(RaTe - 417 81 Il 8, d9 gad Ueid & ged H 39 U H ST 3T
A8 1" T Bt ug uRume frg fagr A €t g2

Options :

1. % 3merd fayamy

2. % AR Yo

3. ¥ 3TAT G Y &N
4. % 3TER TS YEd

Question Number : 221 Question Id : 60092911890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"RITT HTG o1d fHT, SFHTd Td TaRT HIdl o AT ¥ S{RaTe - A1 g1 oIl §, 79 Ugad Ueid & gad H X9 U H ST 3dIGH
B 1" T8 ) U8 Ui fpw fagm A & g2

Options :

1. % 3memd fayamy

2. % AR Yo

3. ¢ ST W g o™
4. % 3T HES YEd




Question Number : 222 Question Id : 60092911891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & @ D191 [dh ey 1od § B¢ & Hew™ ¥ FHifed Teid fdsey 82
Options :

1. % B2 Y gay &) Aichay grar g

2. ¥ B TG A I & BRI F DI HId 81 6|

3. % B¢ AHAY UGS &) Sdhd Hd g

4. % g U W@ I 5|

Question Number : 222 Question Id : 60092911891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1§ S H-91 fadhed BT § B¢ & Howd U Saied 7Tad [ddhed g2
Options :

1. % B¢ U g B Hicdaly g gl

2. ¢ TG WY 9 G & BRI T DI UId a1 5 |

3. % B¢ AHAT UGS &1 Sdhd od g

4. % B¢ O RIVG I 8|

Question Number : 223 Question Id : 60092911892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"H9 X T BHTG BT Yde|

i §¢ foAfy I foa &, TR H 1 il
o HH-91 W 87

Options :

1. ¢ i

2. % g

3. % Higd




4. % ST

Question Number : 223 Question Id : 60092911892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

" T BATG DT goell|

AT dg foeR S feo &, TRE &R 1 STl
T HH-III ?

Options :

1. ¢ d

2. ® dldg

3. % Yfaqd

4. % 3fqyd

Question Number : 224 Question Id : 60092911893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T gt IR, o it a9 gH |

O T 5 $Ha, Al A g1 1" 39 Ufdd T &1H-91 3[AhR 82
Options :

1. % gAB

2. % ®OH

3. Y

4. % fqyra-

Question Number : 224 Question Id : 60092911893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e gt RS, fa Uil Id |
O TR 7 3a, Al A8 I | 1 39 Tidd § SH-91 S[ddR g2

Options :



1. % OB
2. % ¥ UH
3. ¢ Y
4. % fqyrg-T

Question Number : 225 Question Id : 60092911894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"IRT & T TR 9 YAV, IS fidt Ugg e det R S|

HeT WX TETY, IAT H AR M, R-¢R fRage g & R 4iarle & HH-91 39 82
Options :

1. % 5

2. ¥ 5

3. % YY[ddh

4, % D2

Question Number : 225 Question Id : 60092911894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"IRT A e TR 9 YAV, IS fid Ugg e ger W S|

HeT WR ST, IFT H ART M, FR-9R Ravs g& 3 IR did1" & SH-91 3 82
Options :

1% %

2.¥ By

3. % Y[

4. % Hol[

Question Number : 226 Question Id : 60092911895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fhamd HTe Y d- Hdd|



AT H® Ae & 31 fore T id grad i1t § S -1 39 fAfed 82
Options :

1. % yfaqd

2. % HHUT

3. % Td

4. ¢ 9™

Question Number : 226 Question Id : 60092911895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"foheiehd DI good HTad|

AfRTY S ¢ & 3T for gepika arad I B SF-a1 39 fAfgd 72
Options :

1. % Yfaqd

2. % BHBU

3. % Qd

4. ¢ dldY

Question Number : 227 Question Id : 60092911896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T B Xeq, OId &l 1 &1 Y AP IR 3 TUT SBT3 S-SR 51,dll 961 IR HIH-UT SAPR AT |
Options :

1. % ¥Uh

2. ¥ JHD

3. % yifadH

4. % HlRD

Question Number : 227 Question Id : 60092911896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U Bl Ve, OIF &l AT a1 I HTYF TR R qUT IABT 3 3TT-31T 81l 951 W HIH-IT PR Bl © |
Options :

1. ® ®UD

2. ¢ gD

3. % yYifqae

4. ® G

Question Number : 228 Question Id : 60092911897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

" gl 3T fAfr, 31fee e |

oA W g Ry Ste Sitem | 1 & BH-91 8¢ 82
Options :

1. ¥ &4

2. % Jcdredl

3. % ol

4. % P

Question Number : 228 Question Id : 60092911897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"TIeh gdT ST fHfer, i e |

ot R Ry feer,5a Sivam | 1" § SF-91 6¢ 82
Options :

1. ¥ Rd

2. % 3eddledl

3. % gaul

4, % Bfad

Question Number : 229 Question Id : 60092911898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T & R HAT THH &

SR U 1A HAA T " H HIF-TT ITHR 82
Options :

1. % gfd®

2. % HfRDb

3.« JUAT

4. % I

Question Number : 229 Question Id : 60092911898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"I & R HAT THH &

R UC S FHA T |" H HIF-TT 3AHR 72
Options :

1. % gfd®

2. ® HfRD

3.« JUAT

4. % I

Question Number : 230 Question Id : 60092911899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafRad # @ S1H-91 ue e U U
Options :

1. % §igd

2. % YOIIe

3. ¢ YR GUTIH0T

4. % IBIHA

Question Number : 230 Question Id : 60092911899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafafed § 9 SH-91 v &R 7 U
Options :

1. % digd

2. % Ui

3. ¢ FHER JUTaul

4. % QB

Question Number : 231 Question Id : 60092911900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g1 =< @t IRy Afgaraaft ufiet o1 T fead Rdwm o gam
Options :

1. % YgIGH Ul

2. % fqre uifed

3. ¢ U UIveg

4. % 4t 3R Furdl

Question Number : 231 Question Id : 60092911900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g few<l & TRie AfgaraanT Ui &1 T fhdd HavH H gaf
Options :

1. % YIRYMH Uhol

2. ® famar uifed

3.« U UIveg

4. % 4 3R Burdl

Question Number : 232 Question Id : 60092911901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
SR AT SRR & YUTGdh i A2
Options :

1. ® ¥gad

2. % SATAHIG Tl

3. ¢ UV il

4. % PIYIA

Question Number : 232 Question Id : 60092911901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST TS SRIER & JUTGeh i U2
Options :

1. % dgad

2. % SIS Tl

3. ¢ GHIY W=t

4. % HIIIH

Question Number : 233 Question Id : 60092911902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 SITRUT &7 UUH TIHI0T 1942 § Hgl I SR} fosar
Options :

1. ¢ it

2. % a3

3. % faelt

4. % PHER

Question Number : 233 Question Id : 60092911902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e SIRRUI BT YUYW TIHRUT 1942 H Hgl A SR foar T
Options :

1. ¢ it

2. % a3

3. % faelt

4, % SR

Question Number : 234 Question Id : 60092911903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e TR & Y =T &1 1 BT oIl 82
Options :

1. ® BIR

2. ¢ 3™

3. % fOrd

4. % fozTUA

Question Number : 234 Question Id : 60092911903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fYae TR & Y T &I 1 BT ST 82
Options :

1. ® BIR

2. ¥ 3T

3. % RUié

4. % fagmo=

Question Number : 235 Question Id : 60092911904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 7 O a1 greneh R ot AT Td g1l @ gwefid faee 78l 82



Options :

1. % guquf @Ry

2. % T LIS ! It Pt HUTaT
3. ¢ Tl ugfa

4. % faaTd y&mTd

Question Number : 235 Question Id : 60092911904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 & 9 1 H1eeh R &t ST Ud 31T § e faded et 82
Options :

1. % GIYgUl ¥Rl

2. % T[CId IS ! YISl Dl GUTSAT

3. ¢ el ugfd

4. % faaiTd &rard

Question Number : 236 Question Id : 60092911905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31T & T T IUUIGT B 3BT B BT T Tl 1T T 52
Options :

1. % 3crd

2. ¢ faqmuA

3. % fOrd

4. % &P}

Question Number : 236 Question Id : 60092911905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3o & THY H IJUHIGT Bl TH VT B BT I et I T 82

Options :




1. % 3 g
2. ¢ fagmuA
3. % fOrd
4. % HI&TahR

Question Number : 237 Question Id : 60092911906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A1e09 & 31T T T 3RIIR P 301 BT B 3R AP §91 & IR H fR F -1 use
Options :

1. ¢ TCC

2. % &4l

3. % UfAPI

4. % Y&

Question Number : 237 Question Id : 60092911906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o A1 & 31T S ¥ SRAER B 304 B B 3R IGd §H & IR F R I a1 ush
Options :

1. ¥ 3T

2. % .4l

3. % Giyel

4. % ISl

Question Number : 238 Question Id : 60092911907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT o G4 UABINGT BT I & T UT?
Options :

1. % grguf ¢=1 T SeRT BT




2. % YR 3R THS B GYH BT
3. ® R Ui
4. ¢ WA I

Question Number : 238 Question Id : 60092911907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT & 4 TABINGT BT T 6 T UT?
Options :

1. % Grguf &= b SeRT BT

2. % R 3R THTS BT U HAT
3. % yfife onfe

4. A Ui

Question Number : 239 Question Id : 60092911908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ToTTe Hes) TR U o 50 & UepTiRId =76t ghr 32
Options :

1. ¢ HeRTY

2. % TH HHR

3. % foelt

4, % O9§

Question Number : 239 Question Id : 60092911908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ToTTd HEs) THTIR U o 30 & UehTiRId =16t 81T 32

Options :

1. ¢ HERIY
2. % S HIHR



3. % faoa
4, % Golld

Question Number : 240 Question Id : 60092911909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S, 39, TR TS HfSar Suas 81 & a1g i file Hifsar & g1 dieita g & Ui 71 SR g2
Options :

1. % 3= HIHI BT YHTT T G-

2. % SIET {1 H IUAsY BT

3. % Wi foll 1 U

4. AT 1 Rférd g

Question Number : 240 Question Id : 60092911909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Soagio, 99, HIkTd MG Hfear Suasy gH & are +ff fiie Hifsar & sa1 et g & Uie o1 SRl 62
Options :

1. % 3= HIEHI BT YT = G

2. % G HEAT H SUAs T

3. % Wi <=1 1 U
4.« ATl 1 Rférd g
Discipline8
Group Number : 13
Group Id : 600929492
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline8

Section Id : 600929647

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 600929775

Question Shuffling Allowed : Yes

Question Number : 241 Question Id : 60092911910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & ¥ 39 faweu ! g Sl fa7u= S0 990 & 38 IR 91 &1 el fadhed 81 82
Options :

1. % & Yeal T YD GUTGRIT BT

2. % 3fd ¥ WU Her 3wy fora

3. ¢ AR 1 I 9T IReb IIHT BT TN AT Hy

4. % TN Foll T 3T SIS 3151 §

Question Number : 241 Question Id : 60092911910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & & 39 faswey ! g ST A= s 90T &9 X@- Arg 91d &1 et fadhed gl 82




Options :

1. % B Y3l | e THTIRITEH BT

2. % 3fd ¥ YUs AeR 3axy ford

3. ¢ AR T W 9YT IR qTa] ol T =1 e
4. % i R 1 SauTd SuTeT 3ST @

Question Number : 242 Question Id : 60092911911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ArchdRI 9 376 gRI I Alcd H A HH-91 fahed 7Tad g2
Options :

1. % HRdg BRes - gared

2. % YTHWT G- Rt aredl

3. ¢ UdTY TR g - HRES

4. % FIIHU HE-Td-GHIIT TR

Question Number : 242 Question Id : 60092911911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 Ach BRI T I gRI I e H Q HIH-I7 faed 7Tad 82
Options :

1. % YRdg BRYs - GarTed

2. % JYIHWT GrY-g: Rt aredt

3. ¢ YdTg AR 8 - HREE

4. % SIAHW Y -Td-gHg(=] W)

Question Number : 243 Question Id : 60092911912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

vt 7 fora &1, et &1 7 i, afe, sfe & 9f, T T & et | dfdd gad! &t feg fa 3§ gefia g2

Options :




1. % JHART A
2. ¢ Hidargat

3. % fgqg ufFer
4. % Tdrac

Question Number : 243 Question Id : 60092911912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

vt 7 fora &1, et &t 7 i, afe, sfe & 9fa, T T & 9]t | dfdd gad! &t feg Hfa 3§ gefia g2

Options :

1. % JHART 99
2. ¢ Hiddidat

3. % fa9g gt
4. % Tdrae

Question Number : 244 Question Id : 60092911913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
19 faswed! o @ Td fawed ®F-a1 82
Options :

1. ¢ SId- 3G

2. % ga-gurdarg

3. % Wel-favem

4. % DI ATH-TgomgHfd

Question Number : 244 Question Id : 60092911913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
75 faded & I WTd fded HH-91 57
Options :

1. ¢ -3 NS




2. % gNA-gurdarg
3. % wicl-faa
4. % PHIo AIGH-TgomgHfd

Question Number : 245 Question Id : 60092911914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 8 Y D SPRAG! SE 8T 82
Options :

1. ¢ pacHG

2. %

3. % Y[Hg

4. % GG

Question Number : 245 Question Id : 60092911914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & BIF srimRaTe! Srarf et 32
Options :

1. ¥ IS

2. %

3. % H[Hg

4. % g

Question Number : 246 Question Id : 60092911915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I ] BT BT T HHT STl 52
Options :

1. ® dRH

2. ¢ JHTHT



3. % 3Hc
4, % YR

Question Number : 246 Question Id : 60092911915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
X &1 BT BT T THT STl 52
Options :

1. # dRD

2. % 3{THI

3. % 3fFq

4, % YR

Question Number : 247 Question Id : 60092911916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
0 ¥ HH-I1 AIeHh HRAG Hd 1ol 82
Options :

1. % Fracit

2. ¥ B BHR

3. % SRR

4. % gdt ydam

Question Number : 247 Question Id : 60092911916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
290 I HH-T ATed HRAg Hd el 82
Options :

1. % Tgrael!

2. ¥ B EHR

3. % SWTRY




4. % gdt udmg

Question Number : 248 Question Id : 60092911917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THER' & AT HH 82

Options :

1. % 3ffHa T

2. % gl

3. ¢ UETRIS STy

4. % MRS faymy

Question Number : 248 Question Id : 60092911917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR’ & AR HH 87

Options :

1. % 3 T

2. % 43l

3. ¢ UfSTRIS STy

4. % 3 fay=my

Question Number : 249 Question Id : 60092911918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JHDHTAH AT SHicia b1 FAuTd fabe faham
Options :

1. ¢ fayeRAY SuTeEr

2. % GRE HAR SF

3. % 3y 4t 7w g

4. % ST aqddl




Question Number : 249 Question Id : 60092911918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JHDHTAH AT SHicia o1 HuTd fave fabam
Options :

1. ¢ faYRRATY SUTeEr™

2. % IRE AR OHA

3. % gAY 4w Rig

4. % TSI Aqdal

Question Number : 250 Question Id : 60092911919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSI ST T [T Ieh bl HTST T 82
Options :

1. % Oy

2. ¢ T8d1-3¢ fafsa

3. % §OTYHIYI

4. % 3fqefl

Question Number : 250 Question Id : 60092911919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSI HIST T HOAT G B! HTST T 82
Options :

1. % 3Oy

2. ¢ fgdt-3¢ Aty

3. % SSTHIYT

4. % 3[gell



Question Number : 251 Question Id : 60092911920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S g H I IE fafergd iciel & Sfedmdes A2
Options :

1. % 3T 3cA16 Wi

2. % U, 9Tl fpRIR

3. % ST IH HGA 1

4. ool Ty

Question Number : 251 Question Id : 60092911920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 AGDH! | DIF BIC [Afead Ficl & 37eamde 97
Options :

1. % SR 3clg Wi

2. % U, 9T fhRIR

3. % TSI H HIgH I

4. ¥ gad fay

Question Number : 252 Question Id : 60092911921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SABRATG! SHTE S0 A HH 67
Options :

1. ® HHC

2. % pdPh

3. % fagmy

4.¢ &S

Question Number : 252 Question Id : 60092911921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

SAHRATG! SHTE™ S0 F B 67
Options :

1. ® HHC

2. % Hdd

3. % faymy

|

Question Number : 253 Question Id : 60092911922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
q1Ed AT HiAdT F Bd HH 52
Options :

1. ® AN

2. fRTeT

3. % Ud

4. % HGRATY AT

Question Number : 253 Question Id : 60092911922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG AT HIAdT & B DI 82
Options :

1. % ETISH

2. ¢ foRTen

3. % Uqd

4. ® HERATY UATA

Question Number : 254 Question Id : 60092911923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
5 7 QD19 7S Bidar & UgE Bfd g2
Options :

1. % faTax

2. ¥ 37T

3. % UdIq

4. % TR

Question Number : 254 Question Id : 60092911923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 & § ®F 78 Hfad & TgW Bl 72
Options :

1. # fgTax

2. 3R

3. % U4Iq

4. % f_TQn

Question Number : 255 Question Id : 60092911924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT TWhR' AT & AR I g2
Options :

1. ¢ qrell ey

2. #* MYTHWGTH

3. % 3ffIgepTa oA

4. % URdg gRYg

Question Number : 255 Question Id : 60092911924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TORTAT TWUeR Aled & TaRdl HiH 82
Options :

1. ¢ qarern difarae™

2. % AYPVGH

3. % Jffigpred TN

4. % URdg gRYg

Question Number : 256 Question Id : 60092911925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARG & TR DI 82

Options :

1. % H[Hg

2. % diHA

3.¢ Rd

4. % GG

Question Number : 256 Question Id : 60092911925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR & AT DI 52

Options :

1. # H[Hg

2. % dMHA

3.9 Wd

4. % SO

Question Number : 257 Question Id : 60092911926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SHFE T ford X I & RSl 62



Options :

1. % gfddarg

2. ¢ AYHTKIAG
3. ¥ AHJHMdIQ
4. % IRIUdG

Question Number : 257 Question Id : 60092911926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3Hfa T fory 39 1 & RS 32
Options :

1. % Hfdkaarg

2. ¢ JfHefdIarg

3. ¥ HJHMHdIQ

4. % RIUAIG

Question Number : 258 Question Id : 60092911927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5 7 3 »H R Guer & Yads &2
Options :

1. ¢ T aqoll

2. % 1% 39 ¢d

3. % T Tifd—< Rig it

4. % 1% 3TE St

Question Number : 258 Question Id : 60092911927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 7 9 o Rra Iuer & gads A9

Options :




1. ¢ T aqoll
2. % 1% 39 ¢d

3. % T Tifd— g oft
4. % 1% 3TE St

Question Number : 259 Question Id : 60092911928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
X U TR R fhaa! Hid g2
Options :

1. ¥ 3R

2. #® HRJYYUT YT

3. % YHTH A

4. ® NI

Question Number : 259 Question Id : 60092911928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B3 U IR &R fh et pfd 89
Options :

1. ¥ 3R

2. % HRJYYUT 3Udlel

3. % JUTHY HTd

4. % FNTRHA

Question Number : 260 Question Id : 60092911929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T O Adm e &1 91 & AH Fdrd?
Options :

1. % diold




2. % g faam
3. ®% TATTA

4. ¥ X9

Question Number : 260 Question Id : 60092911929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 O q e &1 -1 & 1 Fd14?

Options :

1. % diolh

2. % g faam

3. % TETTAd

4, ¥ Id1dH
Discipline9

Group Number : 14

Group Id : 600929493

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline9

Section Id : 600929648

Section Number : 1

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 12
Number of Questions to be attempted : 12

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929776
Question Shuffling Allowed : Yes

Question Number : 261 Question Id : 60092911930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
! i fobd =T 4 Fwsiferd 49
Options :

1. % et

2. ¢ YHTS

3. % AU A

4. % HUiGd TRl

Question Number : 261 Question Id : 60092911930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
! Hid e T 4 Fesiferd 32
Options :

1. ® TS

2.« YIS

3. % AT T

4. % HUTY o AT

Question Number : 262 Question Id : 60092911931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TerTaet BT & ARl DI 52
Options :

1. ® gMS

2. ¥ W

3. % faemufd

4, ¢ 3YHH

Question Number : 262 Question Id : 60092911931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TeRTaci T & JRIAT HIH 62
Options :

1. ® GG

2. % G

3. % fagmufa

4. 3HHA

Question Number : 263 Question Id : 60092911932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RT N BT AR fordap! X1 82
Options :

1. % {a™

2. % dfcf py

3. ¢ ORI

4. % PR

Question Number : 263 Question Id : 60092911932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Sft BT AR fhTe! [T 82



Options :

1. % PN

2. % d[cf pu
3. ¢ ORIET
4. % DR

Question Number : 264 Question Id : 60092911933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
eI & - fre! wTeg TaAT /2
Options :

1. % gfaqary

2. % Uqd

3. 3R

4. % faATpY

Question Number : 264 Question Id : 60092911933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HEIge & - fha! HTed TaT /2
Options :

1. % gfgadiy

2. % Ud

3. ¢ 3T

4. % fgTax

Question Number : 265 Question Id : 60092911934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR & TR DI g2

Options :



1. ¢ Yt vrg iy
2. % AR

3. % AR

4. % YHIR HRC

Question Number : 265 Question Id : 60092911934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR & TR DI g2

Options :

1. ¢ Ha vae fAy

2. % YRR

3. % FdR

4. % YdR YR

Question Number : 266 Question Id : 60092911935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed # § ®F-a1 1ifd F1e ol &1 9afad &1 82
Options :

1. % IRAedt

Question Number : 266 Question Id : 60092911935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad & I -9 i H1 ol &1 9aiad H1e g2
Options :

1. % IR




2. % Ooyag
3. % HETA
4. ¢ X4 JHI0T

Question Number : 267 Question Id : 60092911936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR T IUg & [T &I 82
Options :

1. % GG Ud

2. ¥ Hgledl g

3. % JHART IUTHEr™

4. % fpid g

Question Number : 267 Question Id : 60092911936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R HT WUE F A B 82
Options :

1. % GG Ud

2. ¢ TgIGdl adl

3. ® JHART IuTEA™

4. % dfipid qai

Question Number : 268 Question Id : 60092911937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tt ST gt 82

Options :

1. * Ul

2. ¥ 3R



3. % e
4. % gigadiy

Question Number : 268 Question Id : 60092911937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qal FHidar feaad! 52

Options :

1. % Ydlq

2. 3R

3. % foRyer

4. % gfgadiy

Question Number : 269 Question Id : 60092911938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ey &1 sraue g T fd JT T A 52
Options :

1. ¢ T v

2. % HBUNTT °

3. % RATY

4, % QY

Question Number : 269 Question Id : 60092911938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feayg &1 3/aam iy ot fFg " q 82
Options :

1. ¢ T yarg 9

2. % HIUTHY H

3. % IRATY



4. % QAGY

Question Number : 270 Question Id : 60092911939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PRI Wb e & TR HH 82
Options :

1. # fgTax

2. % HERATY AT

3. % TARIAATE Igaal

4. ¢ HIAGN

Question Number : 270 Question Id : 60092911939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR MG dad & IR DI g2

Options :

1. # fgx

2. ® HARAY AT

3. % ARG Tqacl

4. ¢ HIAGN

Sub-Section Number : 2

Sub-Section Id : 600929777
Question Shuffling Allowed : Yes

Question Id : 60092911940 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (271 to 275)

frafefad Sigarur o) ergde Ufey 3R I9 THfid Ul & fou U sgfieedl # ¥ I8} faeey 3 gy

awﬁrﬁwﬂ@maﬁﬁw%@@r@%@raﬁﬁﬁwq&rm%l 3MTGH 3 ‘SEITS B IITHD 3R fhaTeT® Pl ¢ ST a1d A
fag ft WgHd 81 I Ped ¢ 1P 9y B UdD Sild B fohaT 3R ITHT TWHIT -3 BT g | Tl Wt &1 & Tbsuar el gidr| 34




UhR W PRIS! DIRIBISH (ART) T 3T IRR BT A0 G311 8| TP BT WHIE adl HH 14 §, fhx t 78 A IRR 916% 1 T fGETs ued
21 AP BIPT SAd &1 PO I HARTH &, A S T §| 3 St faym 71 el | gTaiies 3 SRS ST & U1 9aeR § Th-gi
T i €, IR o o1 fafd gR1 5778 Sl YR Ao R o ST bl § | ST & & A1eqd § IRR &1 9 HIRIH187 Bt SHolt
B U7 R FHETH B2 AT 21 fS T &07 b g+t T 6= Urar ot I A €Y a8 72 2, 1T 3 F R S B

Sub questions

Question Number : 271 Question Id : 60092911941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3G & SFIUR R fa & 1 I §31T 87
Options :

1. ¥ U G SRS

2. % RIJE

3. % T §i

4. % IGp! fopary

Question Number : 272 Question Id : 60092911942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIRIBIST &b IR T T T T 52
Options :

1. % IS 1t BT Shfad e 8

2. % DIABIY Ta fayTH el g

3. ¥ UAP &1 W@HTE IUT HH U §

4. % GAR IRR T $© DIRBN 3

Question Number : 273 Question Id : 60092911943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 1Y 3ot 3R 75 ek Y g TbR HR &1l 52

Options :

1. % HIR®HIS & HRU



2.« SO & HEH I
3. # YRR ¥ f$U TS & SR
4. % 4 P} [0l & HROT

Question Number : 274 Question Id : 60092911944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T fapel & T SH-1 IrHor &1 GaMRI gee 78 82
Options :

1. % qrerHd

2. ® FOfd

3. ¢ STHSY

4. % AJpddl

Question Number : 275 Question Id : 60092911945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3U T 3wy o1 Ui Lo forfy
Options :

1. % -y gagR

2. % UHEUI BT GH

3. % gt O fOera

4. ¢ GTHSY &1 YHTG

Question Id : 60092911940 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (271 to 275)

fRfIRad sfaavur & eryde ufeu SR 9 Tafid U & f3u U agfawed # ¥ 98! fadwen &1 gy

&R oo B U T SIRITS o T ST & S BIC W ol # 1 gef U1 R 1 M1 3 SRS Y TS IR e I 71 $H I Y
fagm it TgHd 81 IR Fed & [P 9y B UdP il B fohaT 3R ITHT TWHIT -3 BT 5 | fal Ht & # Tmeyar el gidt| 39
TR I HAS BRSBTS (I) T 39 IRR BT i 311 | 1 UdS &1 WHIG auT 4 4 €, fohR ot 9 1a IR a1eR ¥ U fewrs usar




¢ TS BIRIT Siifad §1 $© Y SHa®i1 7 8, dl $& Word H| d ot fasmar et wclt| gciies A bHfRrebTd 1 & q1 HaeR H Uoh-gaR
T it €, TR & Bt faft gRT 78 I bR Ao RITU o S TavdT ¢ | 3G & & HIegH I IRR &1 9t SIRIawrsil & SHoil
B ThT R FHETH! BR AT 21 fS T &07 P forg +ft T 6= uran ot I o €t a8 3 2, 71T 3T F R S 8

Sub questions

Question Number : 271 Question Id : 60092911941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

35 B STHR T ATk H T THIT G387
Options :

1. ¢ Uh G sglis

2. % TRIGE

3. % TP §iel

4. % I fobary

Question Number : 272 Question Id : 60092911942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIRIBTH & TR T T T T 52
Options :

1. * P13 1 PRpT Sfdd & 8

2. % HIRIBIT Yea fasm Hcll &

3. ¥ TS H1 WGHE ddT HH N g

4. % AR ARR U $& HIRTH §

Question Number : 273 Question Id : 60092911943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feRT 1T 3T 3R % WSk 5 YHR 2R Il 82
Options :

1. % DIRABISN b BRI

2. ¢ AF S HEA Y



3. % YRR A 35U FgIU8 & SR
4. % T4 DI fH0l & RO

Question Number : 274 Question Id : 60092911944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEu T fawmedt & @ HH-91 Ao &1 TEERi Wee 81 87
Options :

1. % drerd

2. % Hfd

3. ¢ S

4, % 3{Ipddl

Question Number : 275 Question Id : 60092911945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fU TN Srfw5G & I RN fIray)

Options :
1. % {39 gder
2. ¥ UHUdl & T gl

3. % Ul | e

4. ¢ IS 6T YHTd

Sub-Section Number : 3
Sub-Section Id : 600929778
Question Shuffling Allowed : Yes

Question Id : 60092911946 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (276 to 280)

fufoRed FHrear & erFyde ufeu iR I Twiferd usi & fou U sgfawenl §f ¥ Uel fawed &1 gy
TR &1 GUgst §, U gAY o Hd |




Il Sob TR i, SFR-T Sfeit Ut i
Bl ol 4l Ui 1 +it U ore T 3|
F.7 g, HHal-3 g @s o
BEEASERSICEIR
Teh 3fahell AN AT G TR
DI B! HIo-Yl AgD b g TR dl Fel AT
%Gﬁaﬂ'@?ﬁ%ﬁﬂﬁml

I gl ot godt U1 1 7 Uig W
T 38T 98 dRPIA B olcl! 3Tal & SR I
B T AHIUT eR B8 R 18T, JE@-g@ b AL T8 ford dis R
YR S B¢ U For o ¥ Y iieb g1 711l b1 ST
foraT 389 & Hfdd STa- & Uld 9gi 31 S|
Sub questions

Question Number : 276 Question Id : 60092911947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT T B = TRA & GUER &b TR T 37 I 82
Options :

1. % FUida s

2. ¢ e S dgd o a1 &

3. % USI 1 BIg ol o

4.% QYT TGS E

Question Number : 277 Question Id : 60092911948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT &b IR A1 6T UBR 3 56 T 22
Options :

2. % AN ARSI &1 ISP IR TR I 9¢ 38T &
3. ¢ % A agd & SRFH AR M 9g @I 8

4. % QT S AT ATHR ST g3 §




Question Number : 278 Question Id : 60092911949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Higar § &3 7 grior &1 gui= 9 fpar g2

Options :

1. ¢ T 98 i1 387 & e o= Sia= fpd s er g
2. % {3 98 9gd 51 YUA M@ 8

3. % o5 3P UM HeUa Iy &

4. % {3 98 T TUR B ST 8 TS | A forg

Question Number : 279 Question Id : 60092911950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U fap el § q HIH-IT 3fhTdl BT YT st T8l 82
Options :

1. % 3 HHY

2. % gbpld]

3. % 3{AdWM

4.« 3Ugdad IHY

Question Number : 280 Question Id : 60092911951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIATY BT I MWD g

Options :

1. % Tep UHI0m

2.« TRH! B GIUG

3. % AT ATl

4. % JY-g9d

Question Id : 60092911946 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No
Question Numbers : (276 to 280)

fufoRed Frear & erryde ufeu iR I Twiferd usli & fou U 9gfawenl #f ¥ Uel fawed &1 gy

TR &1 GUgst §, U gAY o I |
Tl Sob TRPIA DI, SFR-T Sfeit Ut df|
Bl ol 4 Ui 1 +it U ore T 3|
.77 e, HHal-9 g @s U
gl 31PTe & T SR |
Teh 3fahell AN AT G TR
DI B! HIe-YT AP b g TR d Fel AT
ga‘fwﬁzﬁﬁml

I gl ot gadt U1 &1 7 Uig W
T 38T 98 dRPIA B olcl! 3Tal & SR I
B T IHIUT eR B8 R 18T, JE@-g@ B AL 81 ford dis R
YR S We U For o ¥ Y iieb g1 7M1l b1 ST
e 389 & Hfdd STa- & Uld 9gi 31 S|
Sub questions

Question Number : 276 Question Id : 60092911947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT T B = TRA & GUER b IR T 3T AT 82
Options :

1. % FUida s

2. ¢ e S dgd o a1 &

3. % USi 1 BIg ol o

4.% QYT TGS E

Question Number : 277 Question Id : 60092911948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B & IR dITl {6y THR 3F 9¢ |1 ]2

Options :



1. % Orer g-gh dfm A i

2. % AN dRPIA ! TSh! W UR J 9¢ I§T 8
3. ¢ o Q1 I1gP & S P AR 3F 96 W& 8

4, % QI 3T 1 SHR THT 3 §

Question Number : 278 Question Id : 60092911949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Correct Marks : 1 Wrong Marks : 0.25

Name the highly successful teaching method that provides an environment of open dialogue between student and teacher?
Options :

1. # Reception Learning

2. % Scaffolding

3. ¥ Reciprocal Learning

4. # Integrated Learning

Question Number : 281 Question Id : 60092911952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Question Number : 282 Question Id : 60092911953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The observer anticipates receiving a reward for behaving in a particular way, because someone else has been so rewarded. What is this type of
reinforcement called?

Options :

1. # Primary reinforcement
2. ¥ Vicarious reinforcement
3. % Self reinforcement

4. % Direct reinforcement
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Question Number : 283 Question Id : 60092911954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who's theory of Social Cognitive Development is complementary to Albert Bandura’s Social Learning Theory?
Options :

1. ¥ Lev Vygotsky

2. % Abraham Maslow

3. # David Kolb

4. # Eric Erikson

Question Number : 283 Question Id : 60092911954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



True or False -

Statement I: Transactional text is associated with the purpose of communicating ideas and information between individuals.

Statement II: Reflexive Text assumes that different individuals have different views of the same reality and, therefore, derive different meanings
from the same situation.

Options :

1. # Both statements are false
2. ¥ Both statements are true

3. # Only Statement I is true

4. % Only Statement II is true
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Question Number : 285 Question Id : 60092911956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In cognitive domain of Bloom's taxonomy, which of the following can break down a communication into its constituent parts, revealing the
relationships among them?

Options :

1. ¥ Analysis
2. % Synthesis
3. # Evaluation

4. ® Application
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Question Number : 286 Question Id : 60092911957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many sets of hierarchical models does Bloom's Taxonomy have?
Options :

1. % Two

2. % One

3. ® Five

4. ¥ Three

Question Number : 286 Question Id : 60092911957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Question Number : 287 Question Id : 60092911958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which system is divided into four distinct classes comprised of priests, warriors, artisans, and peasants?
Options :

1. # Governing system

2. # Gender system

3. ¥ Caste system

4. % Structural system

Question Number : 287 Question Id : 60092911958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 288 Question Id : 60092911959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following Statement and select appropriate options regarding truthfulness.

Statement I: Transgender, or Trans means someone whose gender differs from the one they were given when they were born.
Statement I1: Sexual identity is about who you are attracted to; gender identity is about how you identify as male or female.

Options :

1. ¥ Both statements are true
2. ¥ Both statements are false
3. % only Statement I is true

4. ¥ Only Statement II is true
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Question Number : 289 Question Id : 60092911960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which Article of the Indian Constitution the State has been directed to make provision for securing just and humane conditions of work and for
maternity relief?

Options :

1. # Article 46
2. ¥ Article 42
3. # Article 39A
4. % Article 16
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1. % 3q 46
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Question Number : 290 Question Id : 60092911961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the type of assignment that is associated with the Mastery Plan and the Cycle Plan of instruction?
Options :

1. # Syllabus Assignment

2. # Individual Assignment

3. ¥ Unit Assignment

4. % Semester Assignment

Question Number : 290 Question Id : 60092911961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Question Number : 291 Question Id : 60092911962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which type of project is for mastery of skill and knowledge of the students and also increases the capacity and efficacy of the students?
Options :

1. #® Constructive project



2. # Aesthetic Project
3. % Problematic Project
4. ¥ Drill Project

Question Number : 291 Question Id : 60092911962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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What is referred to a single array of data in spreadsheet software or an informal piece of paper that an accountant uses to record information?
Options :

1. % Assignment

2. % Project

3. ¥ Worksheet

4. ¥ Practical Work
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Question Number : 293 Question Id : 60092911964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Inclusion in education is an approach to educating students with

Options :

1. # specific educational needs
2. ¥ special educational needs

3. # simulated educational needs

4. % gpecial elementary needs

Question Number : 293 Question Id : 60092911964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Saad Nagi's Disablement Model, what describes an interruption in normal body processes that leads to a deviation from the normal state like
infection, trauma, disease processes, or other degenerative conditions?

Options :
1. #* Functional Limitations
2. % Disability



3. # Impairment

4. ¥ Active pathology
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Which type of activity corresponds to the full realization of life habits, for example cook and eat, work, play chess etc?
Options :

1. ¥ Social participation

2. # Risk factor

3. % Environmental factor

4. % Impairment
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Orientation : Vertical
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In which level of Kohlberg's Moral Development Theory, the child's moral judgement is based on the desire to obtain approval of others?
Options :

1. # Pre-conventional level

2. # Post conventional level

3. % Conventional Morality Level

4. ¥ Pre-Moral Level
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A concrete operational child understands that a model of an airplane, which had formerly been a ball of clay can be changed back into a ball of
clay. This is known as

Options :
1. ¥ Reversibility
2. # Conservation

3. ¥ Decentering



4. % (lassification
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is a deep and enduring emotional bond that connects one person to another across time and space.

Options :

1. # Interest

2. # Creativity
3. % Attachment
4. # Attention
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Name the technique of process-oriented approach of drama that involves two components namely, preparing for the role and embodying the role.
Options :

1. # Facilitation

2. ¥ Role Play

3. % Simulation

4. % Mantle of the Expert
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is dramatisation without using words but relying solely on physical movements, gestures and facial expressions to convey

the idea.
Options :

1. # Sharing

2. % Tableaux

3. # Spotlighting

4. % Pantomime
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